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Using the Remote Sensing the Natural Hazardous can be
assessed and managed. ’ | :

(A) Earthquake

(B) Volcanoes

W Earthquake and Volcanoes

(D) Bus accident

(E) Answer not known

 ACwm. Qeandi Gemaumd @Quies uTwmsma LHUALaD, Blieudsseaybd
Lweru(OHDS). '
B  Hopesss

B) TALMOEET

(C) Hop@ssnd wHmb ebamaaer

(D) Gupps «uss

(E) o9 QsfMwelicana

study of something without making actual contact.

(A) Tachometer

t@( Remote sensing |
(C) Geographic Information System

(D) Ranging
(E) Answer not known

Griyy QsTLiTy Qdarg arei® wen
(A) QLé;CS&;ﬂLBQUT ‘

B) AGwr Qsenélm

(C) yeuQwie sseud LY

(D) Grengn ,

(E) e Qsflwelcvenaw
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3.

The inclination of orbit planes of satellite in space of GPS is

(A) 50° (B) 45°

&2 55° (D) 40°

(E) Answer not known

B.9.arev.  eflam@eauafl 9fefled QewpCamefen &EHHILILITENS g,érrr&&aﬂs&r. FTey

— 2Eb.

@) 50° (B) 45°
C) 55° o (D) 40°
E) oL Asfucioma |

In GPS operations‘listing of Latitude and Departure is based on Prime

Meridian reference fixed at

(A) Bombay, India

ﬁ Greenwich, England

(C) Karachi, Pakistan

(D) Sydney, Australia -

(E) Answer not known -

GPS operationsefieo Latitude wpmi Departure samsdHw, Prime Meridian

SiqtiueLwrer reference QurmgsLLEL @b
A)  uburw, @pHwr

B) dfeneils, @rubmsg

(C)  aymed, undevgmen |

D)  Acef, <yevdCredlwm

(E) oo Qsfwefcrena
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5. UTM Military derived grid system, UTM stand for
w Universal Transverse Mercator |
B Universal Time Mercafor |
(C) Unit Transverse Mercator
(D) Unit Time Mercator
(E) Answer not knowh

@rremieud QuPLUILLL SLLWLUIL| (P u4.|q..GrL6. GSOLug)
A)  welaise mrqrrsmfo@rmfo QuofrsLit |
(B) wafleuieer evtb @uisLmi

(C) . wafl yymeravauiray QuofrgLmi

D)  welll @b Cuwirsmi

(E) Mer Ggfweidana

6. The Segment consist of the GPS satellite
(A) Control %Space
(C) User | (D) Navigation

(E) - Answer not known

Wfledler GPS QewpenssCamer 2 dreng).

@A) s EUUIE | (B) euren@euafl
(C) uwweuTL @ | (D) CreiCsagem
(E) &Mer Qgfwelcancd |

bt B - 5 DMIT/2023
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7.  GPS receivers any information

M Do not transmit (B) Transmit
(C) Save (D) Prevent
(E) Answer not known

GPS erps@eunp saadsmenyn
(A)  yyrenev Al Qewiwng - (B) wgyrermevAr. Qauiugd
(€) Cosafsg @eusEw (D) sp&@Ew

(E) oo Qsfweldrene '

8.  The GPS receiver also known as the exact position in the sky of the
satellites, at the moment they sent their -

" (A) Roger ' ({Signals
(C) Segment (D) Orbit
(E) Answer not known
GPS Mfeuir aurangder o drer Geligal Pé@ sfwuner ‘uﬁlmsbuﬁ]mm ADILILQUDS
— &Tam JADWPSEILHEDG).
(A) Gyrssir . (B) fAseréven
(C) QssQuar D) <mac
(E) o&fer Qsfwellcvanew |

9.  Who developed the GPS?
‘6 USA (B) India
"~ (©) Russia D) Italy
(E) Answer not known o

GPS g QLavawws Qsiig @
(A) USA («Qussn) (B) @pdum

©) gegwm | (D) @ssred
(E) e QgMwelerenew

1
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10. The roads connecting cities of the states is called

(A) National highway | - (B) Express way

¥ State highway (D) Capital highway

(E) Answer not known ' ‘

miblevkigaert 6or (r_sa;q@as@m LaE@GD  FTEEHET ’ _' T
SP&ESLILOSE DS
(A)  Csflu AphEpeTere ~ (B) asevyen QBB ErFTame

(C) wrhe ABHEHETM (D) CslLe BB EHET@m

(E) &Me Ggfwelcena

1

11. Cement concrete pavement for road is called

(A) Speed breaker ’ (B) Dowel bar
W Rigid pavement , (D) Flexible pavement
(E) Answer not known

- AQuweanl srerd () greneullen GumLmid
(A) CeasgsmL - (B) cewauni
©) ,élL_Lbrrm Gudymib - (D) @egeurar Gopupb:
(E) e Qsflweldeme

12. The minimum width of shoulders of National Highways is
4 1m | | (B) 1.5m

M 2 m D) 2.5 m

(E) Answer not known

GCsflw ApEEsereauiar shoulderdr GaphsuLes @b ererer?
@A) 18 v B) 1.5.8

C) 208 . (D) 258

(E) Meor Qgfweicrana "

E 7 DMIT/2023
C [Turn over



13. A metalled road, passes near a village and is connected by Kachha road’
is
(A) Major District Road
(B) Other District Road
M Village Approach Road
(D) State Road
(E) Answer not known

SymosdnE imdo, QoL st LD @mméaﬂu@ﬂ; SEET FTME)
(A) Quilw wreu L sree

B) wip wre L FTe® |

(C)  fAgmo samEsTO®

D) vrie stew

(E) oL Asfuaddme

- 14. The bituminous concrete is one of —pavement layer'material
W Flexible a (B) Semi flexible
(C) Safe bearing | (D) Non-rigid

(E) Answer not known

‘LF)Q)’)I_IJfTQ)')géSBS.ITGO'I' 3h&EG Gummefle G @Bbllerev srrdf Hib
QRETHTELD. B )

A) YGersdQe X (B) QslGearsH 96
C) wusg Qoors smedper (D) mrer-fg
(E) oo Qzlwerena
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proportion is used in cement concrete road construction

15.
@A) 1:15:3 124
© 1:3:6 N D) 1:5:10
(E) Answer not known
- Qe sl T S@WLULSHES ‘ - g LweTUHHDG.
(A) 1:1.5':3 (.B) 1:2:4 |
() 1:3:6 o .(D)l‘:5:10
(B) oL Osfluciome

-16. In hilly area road, while crossing mountain ridge, the highway should

A)
(B)
©)

- (B)

not cross the mountain

cross around the mountain

cross the ridges at their highest elevation
cross the ridges at their lower elevation

Answer not known

. baoyCss staauded, waawar 2 sow sLEGLALTWS A6 EEFT@WTaTS

A)
(B)
©)
D)
(E)

MV SL-&&HE Tl MG

wemw &HM SLLILG

@D 2 wieurear 2 WSS e sflew sLULgG
. _

Sis@OLW grpaunar 2 wisHd 2 sflow sLLug)

e QpRuicldea

9 | 'DMIT/2023
[Turn over



17. Name the Island labeled as ‘X’

)\

]

'6) Guide Island
"(B) Central Island

(C) Refuge Island
(D) Traffic Island

(E) Answer not known

¢

uLgde 2 arer X @M Superar arens @Hé&Hmg) 2

-
Z

W

4) 2sad oy

(B)  e@ww So

©) Qruyg Se

D) Gursgarss So
(B) e Qzfweloena
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18.

19.

20.

Slope provided to the road surface in the transverse direction to drain
rainwater from the road surface is called

(A) Shoulder . (B) Carriage way

& Camber (D) Kerb |

(E) Answer not known

Cuopuridedmpg! werppery GeelCubpeigHaTs @Q_IBS@ Semalldr - smae

_ Gwmuuuqa;@ Fmiey auPBEISLIUGH S

(A) GCameruren . (B) aanguiumens
(C) Gasbuir D) Qs
(E) Mo Gzfweldeame '

Ist 20 year road development plan period
«Y 1943 | | - (B) 1981
(C) 2001 - (D) 2021
(E) Answer not known .

P& 20 e Frere HL e sred

(A) 1943 (B) 1981
(C) 2001 (D) 2021
(E) &en Qzflweicrenew

The branch of engineering that deals with the planning, design,
construction and maintenance of roadway is called
’6 Highway Engineering (B) Railway Engineering

(C) Bridge Engineering (D) Tunnel Engineering

(E) Answer not known | -

sreneuien S blLa, a.uq.mmwl_‘m, s_@rend whmb urmofiy gHuebean
@swmEsd Qurduiwud g

A) QGpp@smee QurilWud geop  (B) @riieCGea eaeargalwf

O  urew QurHue s (D) syrsuureas Qurdludwd g

(E) ofeni Ggﬁlu_laﬁlcbmaj
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21. Signal of movement of right arm over 30°
(A) Move to my left
(B) Move to my right
(C) Move top of staff to my left
.() Move top of staff to my right

(E) Answer not known

- 30° Cud g @s S@suUSHETT IS

(A) eren @Lg LssD BETSS

(B) e cuwvg LsSD BETHS

(C) e (Bm,r_f)q;r_r);smg, gl QL g LssD BETSS
(D) GVL_TooLs Gm;bumg,a»g; TG UG LIGSLD B&TES|
(E) ol QsfAwellvane |

2’2. The Level Line is curvature using formulé
A) 0.785 D2 : v 0.0785 D2
(C) 0.875 D2 (D) 0.578 D2
(E) Answer not known

Qq)eusb &iGauuled Wil cuemeTeyseTs @ wbsTD gpgﬁm.b
vweruBgsruL. Geuam@Hib. '

(A) 0.785 D2 | (B) 0.0785 D2

(C) 0.875 D2 : (D) 0.578 D2

(E) ol QsAwelcrenew

1t
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23. Match List I with List II and select correct answer : -
List I List IT

(a) Back sight Last staff reading
(b) Change point Point on which staff is held
(c) Station point First staff reading

(d) Fore sight

A e

Indicates shifting of Instrument

@ ® © @

'6342

1
@ 1 2 3 4
© 4 3 1 2
M 2 1 3 4

(E) Answer not known

utgwe Ig ulqwe IT o L ar Qurpsd sflurer aleLomws CoibAs0.
uliguwe I ugwe IT

(a) Gusesi saL 8 eoLm fig

(b) Gseps umGen eoLm Apssru®h Leref

(¢) ovGLsar umlam WS avLm Fig.m

L

(d) ~Gumit aval @ B@waT g6 IHND GHEADS)

@ B © @
@)

3 4 2 1
® 1 2 3 4
© 4 3 1 2
® 2 1 3 4

(E) e Qsflueiorene

b « B 13 - DMIT/2023
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24. Levelling instruments essentially required for

)

(B)
(©
<«

(E)

Vertical height calculation

Vertical and Horizontal Calculation

Only for graphical method use |

To furnish horizontal line of sight for observing reduced level
Answer not known

Qaeuaiin smaluier Ws igduradluwrar Csmeuwrarg

(A)
(B)
©
D)

(E)

Ceni@sg 2wy sansCas@udns
Sl wHmib CskiGsE 2 wWrksmar SaTEAsHLULSHE
UMTHV (LPEnD de)Lb a;@mé;@a;@ﬂug;ﬁ)@

urireney  etefaser gpod el Car@semer s flbg Ceeud
sanss(Houg

e Qsfwelerena

25. In levelling survey hand signals during observations movement of left
arm over 90°

«Y

Move to my left

(B) Move to rhy right

(C) Move top of staff to my right

(D) Return to me

(E) Answer not known

Goedin siGauder swalss Cauamgu s msmssefod QLg asawu 90°%s
Quisdlarmed erenm GummeTUHILb.

A) QLsiussnd paraybd

B) aegussd pareyn

(C)  awgussd eoLmifer Gud uGHow Baisseb

(D) erenear Crrsd @iq cur |

(E)

DMIT/2023-
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26. Name of the levelling instrument that does not require projection from

sun
(A) Tilting
(B) Dumpy
(C) Wye

- Auto

(E) Answer not known

&Mw Qeuelsesder Qmbg LTgsTES Coae @G’Dwr@ GQeveued o LisTamSSlen Quuwir
(A) Tilting (qéu) | |

(B) Dumpy (Libi)

© Wye gu@)

D) Auto (e CLm

(E) oo Qsfueidame

27. The M.S.L is fixed at which place in India
(A) Chennai
(B) - Kolkatta

&f Bombay |
(D) Vishakapatnam

(E) Answer not known

&gl SL6 L LD, @pﬁu.:rr@fﬂm GTTRI(S »@,g‘)]é;a;_uuu‘_@dm@?
A) Qserear o

B) QaroassT

(O wweu

(D)  fsrsrugand

(E) oo Gsfucidme

e . . ' 15 DMIT/2023
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28. In order to connect a bench mark to the starting point of the alignment
of any project, it is called

(A)
(B)

!
* (D)
(E)

Simple levelling

Indirect levelling
Fly levelling
Check levelling
Answer not known

Ceedd om Hmsalled <mbu yerefluler ei@eerGwar

Cugpéonis aped @eaanssliLhHng.

(A)

(B)
(©
(D)

(E)

gngnyenr Geoauedn

wenppaELrer Cleeued
solaner Qeveuadim

088 Qaveuedim V
allen QgMweldrenew

29. To find the relative elevations of points by the measurement b01hng
' points at these points using

(A) Ammeter

(B) Voltmeter
6 Hypsometer

(D) Micrometer

(E) Answer not known
Qg 2 arer Leteflsaflar Camppid, Qardflea epeid amma;mcrr TH&s
vweTLuhSsLLOE DS

(A) B

(B) Geumeévr Bt

(C) @apciGsr S

(D) ewsCrr S

(E) oL Ashusivma

DMIT/2023
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30. Due to external attractive forces like electric current iron pipe, iron lamp

31.

Ll

post, electric current cables, we can’t able to findAt’he normal position of
the magnetic meridian such a disturbing force is known as

(A) Declination

(B) Magnetisation

(C) Dip |
M " Local Attraction

(E) Answer not known

LlS]GbT&rrU Qmwus@wri, Werergs CsQer, @@y oflers@ swub GCumerp

Qaselliye  miy  efens srgewtons prd  Guserngs Guwflyweller stgmre
Hleveenws sarLdlu (pgwrg).

@5 QsmHsrey Gewwb amsurag aaaurm SPULILGSDS ?

(A) sfey

(B) smhswrssd

O gu '

(D) Caonégsd o gréagper

(E) eleo Qgflweldene | .

Which variations accured by magnetic storms?
(A) Daily variations .

(B) Annual variations

'(C) Secular variations

M Irregular variations

(E) Answer not known

ThS Ums WTMIUTHSET STHS LjUIevmeD ghupSHenmer ?
(A) ﬁmﬁngQJLb CeumurH&er
B) <an@Csrmw Caugiur@eer
(C) smrupp CaugiurBaer
D) uusdy Caumurbaar
(E) elerr Ggflueioeme

17 DMIT/2023
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32.} The length of a chain is measured from the
(A) Centre of one handle to the centre of ~other ha’ndlé
\“;Y Outside of one handle to the outside of other handle
(C) Outside of one handle to the insidé of other haﬁdle
.(D) | Inside of one handle to the inside of other handle

(E) Answer not known

@ srdder Sord HaBhg arel_LLHHns

A)  en ®su9guier @wwbd wHn @aigulear @LWEEHES
B) 6 ®su9qu96 QaeliCu wHy @aidyée GeauefGu
©O) em masl_;nﬁhg_é;@ QauafliCw whm .Q)&DIQI;]_US]Q?T 2 eTGer
D)  e® @suGquier 2 arer wHD sy uler o drCar

(E) e Qsfwefcvanad

DMIT/2023 18
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33. Convert the following reduced Bearings to the whole circle bearings
S 32°15'E : |

(A)

S 147° 45' W

& 147045

©
D)

S 147°00'E
E 32°15'W -

(E) Answer not known

&Cp Qar@ssiulL sroarl  Cuili-aw el Gufin s wrHH

S32°15'E

)
®)
(©)
@)
(B)

S 147° 45' W

147° 45'

S 147° 00' E ”
E32°15'W

alen Qgflwellévana

34. Convert the whole circle bearing of 170°12’ into Reduced Bearing

A)

N 22° 30'E

& S9°48E

©
D)

S 31°54'W
N 32° 36' W

(E) Answer not known

@ el Quflin 170° 4 12 Beafllas ganssuul L Gulltsts wrHns.

A)
(B)
©
D)
- (E)

N 22° 30' E

S 9°48' E

S 31°54' W

N 32° 36' W

clen Qg flwellevena

19 DMIT/2023
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35. North pole and south pole join the imaginary circle is called
(A) True Bearing ) True Meridian
(C) Magnetic Meridian (D) Arbitrary Meridian
(E) Answer not known

QUL ZIHeU wHhmib QAFeT FiHousas @mm&;@m sHueer aulL GCam()
D) ey QuAm | (B) ey QuAigwer |
(C) Qusangs Quwfigwer (D) <AL f Quiigwer
(E) e QsfAweldrened

36. The difference in direction between true meridian and magnetic
meridian is called

A Magnetic declination (B) Dip
(C) Isogonic Line (D). Agnonic Line
(E) Answer not known
e amenowrer GuwMgwer wHpd sTHs Gulipwea @aLCu 2 drer Have Caugiun®
T JMPESEILHE DS
(A) Gusargs 4sCanser - (B) gu
(C) xQsrCGsrafls cufl (D) @sCamafls cuf
(E) eer Qsfwelcdrena

37. In prismatic compass, The 0° or 360° is engraved on the

(A) East end of the ring (B) West end of the ring
M South end of the ring (D) North end of the ring
(E) Answer not known

ulLs Saswereiluiler 0° (1) 360° cretug) s @LSH® QuIHlEsILL g HE@GD
A)  amarwsder Hpss weoer (B) auamerwgden CuopE wear

C) amearwsHar QsnE parar (D) aumenuigden eué@ pavar

(E) oo Qzfweldrera

DMIT/2023 : 20 b



38. The graduations in prismatic compass
(A) TUp Right
(B) Up Down
Inverted

(D) Normal |
(E) Answer not known

9RevCLl g6 STDOLE QUL QUg6el 66y SLigd ET(PSFHISET 95
IURICT |

(A) Cueé up Corsd

B) &p yp Corsd

(C) essi86T sS@DELTE B (HESLD |

(D) engryenr flenew

(E) ofenr Qg,rﬂmaﬁld)mm

39. Find out the bureau of Indian standards code number is Recommend for -
folding of drawing sheets

(A) IS 1444-1963/1977

v 1S11664-1986
(C) 11664 — 1987
(D) 11664 1981
(E) Answer not known

UL Sratlener mtq_uug,m@ urﬂ;r;g,jmqa;a;uuL_L_ @pdwu s ;_F,\ana) sLEUT(®
fpeuasder GNuUE seamHilgéseb.
(A) IS 1444-1963/ 1977
(B) IS 11664 — 1986
- (C) 11664 —1987
(D) 11664 —1981
(E) e QzRwedeena

P _ 21 ' DMIT/2023
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40. The most convenient size of drawing sheet for drawing purposes in the
classroom is

(A) Ao (B) A:

& A (D) As

V(E) Answer not known

uGLUeDEd amrusHE Wsab wusdurer euaruL sraller <iemay
@A) Ao (B) A

€) A D) As

(E) eer Qsfweferene

41. The Untrimmed size of A; drawing sheet is — mm
(A) 880x1230 v 625 x 880

(C) 450 x 625 (D) 330 x 450
(E) Answer not known ’

A1 auengu greflen A QewuLns oerey —— (8.8 2 GID
(A) 880 x 1230 | (B) 625 x 880

(C) 450 x 625 (D) 330 x 450

(E) eer Qsfweferene '

42°‘ _ is the instrument used to draw parallel lines fast.
(A) Set square (B) Scale
(C) Protractor d Roll-N-Draw

(E) Answer not known

Yaarurar CsmRaman cuamrw LWETLGHD s@Hed

(A) Qenr 6f0Q55rrU.nr‘r (B) <iereyCamed
(C) ureswraf | (D) Gprév-eram-iqqm
(E) c_:ﬁ]co)l_ Asflwalioeme |

1
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43.

44.

45.

1

The softest grade pencil is

&) 9H v 7B

(©) 6H .' (D) 5H

- (E) Answer not known

g Quenenwwnar HCy{H Querdled

(A) 9H (B) 7B
(C) 6H - (D) 5H
(E) o&Me QzMwelicrana '

According to Bi Designation of BIS (Bureau of Indian Standards), the
size of drawing board1s , |

(A) 1500 x 1000 x 25 mm wf 1000 x 700 x 25 mm

(C) 500 x 350 x 15 mm - (D) 700 x 500 x 15 mm

(E) Answer not known

@sdu  srfewsd ualussdeay Bl uanyUL Lesudler oieTe| ereTLIg)

(A) 1500 x 1000 x 25 .8 (B) 1000 x 700 x 25 (8.18

(C) 500x350x158.8 (D) 700 x 500 x 15 818 i
(E) e Qzsflwueiicrened | |

For drawing construction line suitable grades of pencils are
@) H | @ 21

) 3H - (D) 4H

(E) Answer not known

semevl_rsagen Car@ (sl(@wrear Gar@) amrasn@ Qurmsswrear HCrH Quardd
— G

A H : . (B) 2H

(€ 3H ‘ (D) 4H

(E) oL Gsfuaidame |
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46. Set square are generally used a draw lines at 30°, 45° and

60°

(A) Straight 6 Inclined

(C) Vertical (D) Horizontal

(E) Answer not known

Qe -av@asmuir Qurgeurs 30°, 45° womb 60° —— CGarHsamer euamrw
vweuhEmg '

(A) Gpyrs (B) smuey

(C) Qsrsss (D) Qe

(E) e QsAweldene

47. : 1s a simple and small shaped instrument of the drafting
machine. _ |
(A) Pentagraph ‘{) Mini-Drafter
(C) Planimeter (D) Instrument box

(E) Answer not known . ,
ererugl igrmiig i Aivedlafled 2 erer eraflw wHmbd HAHw G)J#QJLDI‘I’GI)T &(mad
(A) QuerLrdlymL (B) el goroui
© Qerref S D) @e&rdu@@oemr_ LIT&eh
(E) oo Qsflueioeme |

48. Drawing Instrument is used to draw curves that cannot be drawn by

compass .
(A) Set - Square B) Protractor
d French Curve (D) Mini drafter

(E) Answer not known

&MU AP GUTW (PIGWTS GUMETEYSEMET UL LIWETURSSUILIHL euenyuL

&(medl
(A) Qs -avQasmuwir : (B) urevswref
(C) Q97¢pé sieu - (D) Wefl qymaL

(E) &leor QsAwelorea
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49. The sum of interior angle of a polygon with n number of sides is

50.

51.

A) (2n+4)x90° | (B (2n-4)x60°

& @n-4)x90°

(E) Answer not known

D) (2n+4)x60°

n uss aarafsmsydar @m uaGsTarsdear 2 dGsTamhseiern sl HSASTMS

A) (2n+4)x90° "~ (B) (2n-4)x60°
(©) (2n-4)x90° (D) (2n+4)x60°

(E) &ler Qsfweicrana

Regular polygon having Ten equal side is called
(A) Pentagon : - (B) Hexagon
(C) Octagon ‘ cﬁ Decagon
(E) Answer not known -

R(PBIGLI uev(%a;rraso'réjaaﬂ@ UGGl LISSMEISET _
(A) guCGsrerbd (B) <@ipGsremrd

(C) eanGamentid : (D) ssCGamamid
(E) oL Qsfueidae

The sum of exterior angle of a regular polygon
A 270° " (B) 180°
© 90° - P 360°
(E) Answer not known

uaCsrangder auefCarammsaiier sl HsbsTams

(A) 270° | ~ (B) 180°
(C) 90° (D) 360°

(BE) e Qsflusidama

25

equal.

4 &Ml &@ &b,
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52. Circles within a circles but with different centers are called

(A) Concentric circle | M Eccentric circles
© ’Chord (D) Segment
(E) Answer not known

(1 QJl_l_g,;f,lm@m QQJ@JGQJQJ LWL umerﬂemu_l Cerem(h) LI UL L B&GET @)HHSTe

g6 Gluwir
(A) @Gy evwwqpeTar UL b - (B) ue evwBsmear QaTaTL QUL LLb
O aLsder prer | (D) e gder 9Ray

(E) e Qsfweldena -

53. A quadrilateral with four equal sides and four right angles is a
Square : (B) Rectangle
(C) Triangle (D) Pentagon
(E) Answer not known

B6E L&SRISEHLD, Hres, Caramiis@pb Fowrs Qsra@re BrHSTD
(A)  sgmmd ’ ‘ (B) Qscueusd

(©) éGaramd D) mrGsrenrid

(E) el Qsflucloame |

54. Opposite ‘sides are equal and parallel, and all four angles are Right

Angle is called as
(A) Square : (B) Rhombus
(O Parallelogram M Rectangle

(E) Answer not known

adArdliT LGSEHGET FLLTEAD @eEMTUITSELWD, Gm@m-agm mmennd GamenTiisserpLd
CemCsramons, 2 eTarg ————— aranr SAWPS5LLUMHSDS).

A)  smimw (B) smi sgipw

© @mémasqfo (D) Qssususd

(E) AL QaMweldrenew
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55. ————  Reflex angle.
- (A) Angle between 90° to 180°
(B) | Angle is. less than 90°
(C)' Right angle |
'J) Angle which is more than 180° but less than 360°

(E) Answer not known

— eramugl Yemeuanata) Gamewid.
A) Ga;rram.b 90° & @mig 180° cueny
(B) 90° sapers | |
C) auwz Camaurd
(D) Gamawrd 180°-gmeilL iHsd %mrrd) 360° 58 @mmeﬁnmgu
(E) oo Qzflweierencw

56. The Re_commended values of the thickness of the centre line is usually
wO 025mm (B) 0.30 mm
(C) - 0.40 mm (D) 0.60 mm
(E) Answer not known
upésons @ows Camlidr sywailer ufipge@rssiulL LAY
@A) 02588 |  (B) 0.30 418
©) .0.40 S | (D) 0.60 5

(E) e Qzflweidme

P \ 27 - | DMIT/2023
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57. Find out the name of triangle

(&) Obtuse Angle Triangle

M Scalene Triangle
(E) Answer not known -

(B) Right Angle Triangle
(D) Equilateral Triangle

- p&Ganamgden Quweny sarmLMweyb

37°

69°

74°

A)  AACsTemr wa&Camamtd

(C) <50 Uss @a’s@asrrasmb
(E) &er Qsfwefcrene

58. A circle contains
A)  90°
(© 270°
(E) Answer not known
@@ L augblApGrulLg
(A) 90°
©) 270°
(E) &er Qsfwelicrena

- DMIT/2023

\
(B) QsrGsranr p&Gamanid

D) sw uss W&Caremmid

(B) 180°

w 360°

(B) 180°
(D) 360°

28



59.

60.

- 61.

The length of chain is 20 m, measured distance is 720 m and incorrect
length of chain is 20.04 m, then the true distance 1s
@ 721.44m (B) 821.44 m

(C) 621.44m . (D) 521.44 m

(E) Answer not known |

20 5 Berd Gameiri &réje‘élcﬁluﬁlcbm vwetu®sS, 720 S Beroner gTSmS eTéHESD
Qumgl, sudlduler seuprer eTe 20.04 8 erafler, e emepowmean D
ammmm? ‘ ' _
A) 721448 (B) 821.44 8

(C) 621448 | (D) 521.44 &8

(E) e Gsflweicoena

To facilitate quick reading of fractions of chain in distance
measurements the surveying chains are provided with

(A) Links (B) Chain

(C) Tape : M Tallies

(E) Answer not known.

Q&uﬁ]a‘r FiGaule erdsslL@L grmsalear sfwrear Sl seaT eSlenreuns

epELD G\g,lﬂpgd Qg merer Q,oLq.u_|Lo

A)  Srus (B) Qsuden

©) G (D) L

(BE) Mo Gzfweidae

The limits of error for 30 m chain as per L.S is

(A) +2 mm (B) +4 mm
7 +8mm | (D) £6 mm

Y(E) Answer not known '

@pHw a7 Hireww s L GEl6 umr‘30vL‘B Qeudafer Genpufer euybL -

A) 2 8.5 B) 4 H.85

(C) 8 W85 | (D) £6 H.8

(E) e Qsfucioms |

| 29 | DMIT/2023
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62. The type of error arising due to temperature variation in chain
surveying is

(A) Instrumental Error %33 Natural Error
(C) Personal Error (D) Parallax Error

(E) Answer not known

Geudlen srCGander Qeuiuflene wrmsoTd shdduler ghuD Wewuler euams

GTGOTEUT ? ‘ _
Q) smefude 2 drar e (B) Qupemswurer Gey
(C) sl pugmed gHUEL Gey D) @rwry Gery

(E)  ofen QsAwelerene

63. How the chain is adjusted if the chain is found to increase in length than
the standard length? '

m By removing some of the rings

(B) By straightening the bent of link

(C) By adjusting the link at the handle
(D) By inserting the new ring as required

(E) Answer not known

Qaufer FiGeuufni—e arrsjeﬁl@Sl Heoowrar Bargans oL Sord fswrs @@uug

samLduiiu L néd shflaadr ereucumy &M QewtiL@éng ?
(A)  Ho aumenuiismer SSHDIQISET APLD

(B) @mm&ﬁe&n QUGHGTGYSENGT Gg;qrré;@mg,e&r gpeoLd

(C) @509 uller @aanmiiemu &M Qelieuger apeld

D) GsmausGapu HHW umaruss CariiLg

(E) oo Qsfweldema |
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64. One cent is ——— sq.m. .
@) 8937 € 10.47
(C) 41.57 | : (D) 42.67
(E) Answer not known
@ Qger erarLg ———— &5I7 5. G
(A) 39.37 (B) 40.47 |
(C) 41.57 D) 42.67
(E) - e QsAweNdrene | |
65. The Revenue chain is commoniy used for measuring fields in cadastral
survey. The Length of Revenue chain is ’ ‘
(A) 66 feet 6(33 feet
(C) 100 feet (D) 40 feet
(E) Answer not known |
sLavlgred  FTGeuuller SeTE®S am@fﬂ@@ hE Ourgeurs QrGeueryy GCeuller
LweaTLHSsLILEEADE. Ardeudny Qsuleie g:ﬂfo 4
(A) 66 =g (B) 33 =ig
(C) 100 =g D) 40 =g
(E) oNe Qzflwelérene
66. is used to check the verticality of ranging poles.
«§ Plumb bob (B) Spirit level
(C) Cross staff ' (D) Offset rod
(E) Answer not known
Gresdiu Gured (Ranging Pole) Qsm@ssns @mriuamsg sAuNiés
. @8 vweaTuEpg. '
(A)  Gembri LML B) 9L Qeveued
(C) Agmev evmesl (D) uQsi gr
- (B) e QsAweflevanew |
b= 31 | DMIT/2023
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67. 7 Radians equal to Angles.

(A) Right Angles
(B) 1 Right Angles
M 2 Right Angles
(D) 3 Right Angles
(E) Answer not known
. Crigwe Carems i@ swwonarg,.
(A)  QsrCsmewrid
(B U Q&rfu@a;rramm
(C) @rean®p QsriCsmanid
(D) epenn QeriGsrentid

(E)

eflen QzMweldene

68. The process of setting out a stralght hne between given start and end
point is called

(A)
B)
&
(D)
(E)

Chaining
Offsetting
Ranging
Triangulation

Answer not known

Cgm &s wHmd @mnd yarafls@rse QeorCu @m CriGsm el IMLOESLD

Qewdwep eTesr aqmgga;a;uu@ D&
(A)  smfed Qzm
B)  <uQsciqm
(O aurby @anp
D)  wpsCaremtid apan

(E)

DMIT/2023

e QsNweérena
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69. Classification based on the accuracy surveying divided into

70.

71.

two - (B) three
(C) four 4 (D) seven
(E) Answer not known

goawwrar &iGa QELIWLILEGL AMWLUMU GLUUSL LTSS Qarem® siGeuude

Gfey

@) @rene (B) werp

©€) prag (D) 9w
(E) oflen QzsMweilcrene

- is 15 cm long and one end is tapered. By this the station is
anchored on the ground in Chain survey

(A) Cross staff R .;BY 'Wooden peg

(C) Plumb bob | (D) Steel tap
(E) Answer not known

15 Qs.8. et LHYD @ paen FmieTsAD, @g Ceuder

siGeaude vBLsalldr Ao yerallwns LHEsLLGSDS.
(A)  Aymev evLmil | (B) ey e Qus
(C) QGemb LM (B) gNES GITH (D) eviedd G

(E) &len Qzflwefdena

Number of links per metre length ‘ofé?ain' are
5

@A 2

(C) 8 4 (D) 10
(E) “Answer not known :
&5 BULi Qeullafled oS\riids.

@A 2 - B 5
C) 8 (D) 10

(E) e QsfRweldena

- 33 ' DMIT/2023
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72. Match the following :

(a) Archeological
survey

(b) Geological
survey
(c) Mine survey

(d) Military survey

@ O ©
A 1 3 2
“ 2 4 1
) 3 1 4
M 4 2 3
(E) Answer not known

(@

= DN W A

for exploring mlneral Wealth such as gold,
coal, copper etc.

for determlnlng unearthing relics of
antiquities

for determining pomts of strategic
importance of both offensive and defensive

for determining different stratus of earth
crust

ﬁleﬁw@mm@ﬁ)mmu QuUITBSSS

() QGgrodlwe FiGa
b)) yelWwe siCas
(c) srms #iCeu

(d) @Un@;m‘ #iGeu

@ ® ©
Aa 1 .3 2
B 2 4 1
© 3 1 4
(D) 4 2 3
(E) ofen Qsflwaldoame

DMIT/2023

1.

2.

3.

4.

(d)

Ll \VECC RN

Shgh, floss, grblyd Gurery saflo euethsemen
BIMICUSHETE

uphsTe QumpLgefler ;ﬂmmm& SenanismaTs
saTL_HeugNHans '

BN&EGSD HMID FH&TUL Qyamger WeHwgsieud
aumupg etaflsamar Srwnelliughsens

yiluler GuoGam L sHer QausGeugy ;_F;]mevmu.:
.é,rn.orrcaﬂuug,ma;rras

34
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73. The first operation involves after setting up the Plane table at any
~ station.
(A) Orientation the Plane Table
(B) Sighting the Plane Table
(C) Centering the PIane Table
| M  Levelling the Plane Table
(E) Answer not known

s Hoowusdad Gamerar GLG@ar <@wss KUDG abd WHD BLalgsE®s
- o aTerL&&lwg)?

A) efwear CLager QGerer Griblar
(B) sy ACarer GLiGaT

(C) Qeenfm QCarer GLiGer

D) GCeeuddm YGearar GLiGer

(E) &len Gzfweldens

74. How many operations involves in setting up the Plane table survey?‘
@ 1 . ® 2
W 3 D4
(E) Answer not known
QCarer GLIAdT 57Car Qeiin SiewLLULSSD aEsmar QEUOUTHSH SILRED?
@ 1 - (B) 2
© 3 » D) 4
(E) oen Qg.rﬂu_laﬁlebmcu

e 35 DMIT/2023
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75. Bowditch rule applied to purpose In Plane table survey
errors. ' '

(A) Errors of plotting

'(B) Instrumental error

M A closed traverse for adjustment of closing error
(D) Errors of sighting |

(E) Answer not known

gwger Loas FiGaiuller Aueryl & alld Henperw &fl Qeiifpg.
A) Qe igi Qeiiwyd Cung b Gy

(B) smeilliamed ghu@n e

O  wow deymw sf Qelicugpsrar @ AP LTS

D)  urrudeed gHuED YGeny

(E) e QsAweldene |

76. law is used for Trial and Error method in Plane Table
survey. '

(A) Newton’s rule
4 @( Lehmann’s rule
(C) Arithmatic rule

| (D) Simson’s rule

(E) Answer not known

swger uwms sTGauudled LD NBTH CTTiT WPWDES Siey STewr
M o erergy.

A). Pylier 4

(B)  -QasCGuérev 94
(C) <ifsCwys a8

D) Awsar 08

(E) e QsAweldrene
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77. In Plane Table Surveying, — colour sheet is used.

¢ Light Green | (B) White

(C) Red (D) Black

(E) Answer not known ' ' |

&lo,g,eﬂ Lwas #TCaéE LwaLGSsLGD grafler Hlmw

T (A) Qe usms A (B) Qeudrenar
©) &y D) s
(E) o9er QsNwafvena

78. In Plane Table Survey, rad1at10n method is used survey lines of a

M Closed traverse (B) Open traverse
- (C) Direct ranging (D) Indirect ranging
(E) Answer not known |

songer  Lo®s &iGwudd, GCryCusar wapuld - LwetuBb siGos  anaar

%@3'—0
A) Py aUdD g TTeuED (B ypyeprs gomeuien
 (C) Gmrgumer Crepél . (D) vepupswrar Grepél

(E) oS Qpflweioena

79. The ‘U fork and plumb bob are required for Plane Table
surveying.- | :
Centermg o (B) Levelling

(C) Orientation (D) Focusing
(E) Answer not known :

gogar Loams FTGauuld U - Gunité wHYD SIES @aur@ %5
CasaeuiL®EHmS- | '

&)  @LwIUESSIE®  (B) swuupssise

©) oAwueaGLger (D) umigsen

(E) efenc Qsfwucldea

37  DMIT/2023
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80. The principle of Plane table is

M Parallelism

(B)
©
(D)
(E)

Triangulation
Traversing
Ranging

Answer not known

sgeT Las siGaudler Gamatanswirarg

@)
®)
©
D)
®)

81.

QevarTwineng)

P&Garamr s@wiL@LWg
grreufle Qsrerans
Crepflni

den GzfNlweiidena

1s used for levelling a plane table.

A)
(B)
©

Alidade
Plane Table

Telescope alidade |

wf Spirit level

(E)

&g LUmsEmW Qeveud Qe — M vweTUHEDG.

(A)
(B)
©
(D)
(E)

DMIT/2023

Answer not known

240G

QGarer GLGar
QLreevCar elGLL
oI AAL. Qavaudd

elenL Qsfwelorena
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82.

83.

@A 1 _ . (B) 2

instrument is used to transferring the ground point on to

the drawing sheet

(A) ~ Spirit level

K “U’ plumbing fork
(©) Alidade

.(D) Trough compass
(E) Answer not known
Basdo 2 dier LdTallens aUTLL STEBES LIHD 2 Faid Hmal
(A) UMgre UL LD

B) U Qarodis 2Gurts
C) @dG

(D) s smbLED

(E) e Gsflusioma

How many stations are required in radiation method?

©) 3 (D) 4 S

(E) Answer not known

Gy Cwagen panmulled Gfg,g,mm dvGLagern Coenau ?
M 1 _ | (B) 2
© 3 | S D
(E) ofar Qsfwelvana
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84. The total rise or fall between two points on the road divided by road
length is known as . '

v
(B)
(©)
(D)
(E)

Average gradient
Floating gradient
Limiting gradient
Ruling gradient
Answer not known

stwollar @Qran®h G RsEREES .@QDI_GUJ 2ETem  2WHD  SMPNEU ST
QoL ggmssted ANssmd deas@n Crirsfey

(A)
(B)
©
(D)
(E)

eynadl Copir sfley
Bigeneu Gt sflay
Quél Cpit sfley

< @peno Cpir Fifley
eflen Glg,rﬂu_laﬁimmsu

85. The slope range of camber in water bound macadam road is

(B)
©
(D)
(E)

1in 33 to 11in 40
1.in 22 to 11in 30
1in 44 to 1in 30
1in 55t0 11in 40

Answer not known

WBM srevaulgyenLw awvwsgnssdler (CAMBER) smuey eumby eremar?

(A)
(B)
©
(D)
(E)

DMIT/2023

1in 33 to 1in 40
1in 22 to 1in 30
1in44 to 1in 30
1in 55to 1in 40
aflen QsMwelidranes
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86. A-formula of Super elevation of road is

& E-L v~

126 126R~
vV - 1%

C - D) E=——

© R120 (D) E=1oe

(E): Answer not known

graaulen s 2 wiey STa 2 Fab GSSTD

R V2

@ £ T126 | B TTY:
o V. | . 1%
© " R120 (D) E’126

(E) e Qs Mwelldane

87. The slope of the road along the longitudinal section 1s known as
(4 Gradient
(B)  Grade
>(C) Positive grade
(D) Negative grade
| (E). Answer not known
srevowder far Qau @ Comppsder sfay
(A  &Cmqwen. '
B) ACrE
(C) urflige HCIH
(D) Opsiges HCyH
(E). G_ﬁld)l_ Qs flwaiidame

pn 41 ) DMIT/2023
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88. Choose the wrong matches from the following

1.
2.

3.

(&)
NI~
©
(D)

Combined camber
Straight camber

Parabolic camber

1 only
2 only
1 and 2 only
2 and 3 only

(E) Answer not known

Straight lines are provided near
the edges and parabolic shape 18
given at the crown

Straight lines are at the centre
and light curves are provided
near the edges

A continuous curve of either
parabolic or elliptical shape

G]e&rmqymmm;‘pgf)lsb sapren durmsstismer CaibQs(és

1.

A)
(B)
©
D)
(E)

Qeveanss Lpssiey

Criiypésiaey
ureuenerwiLs Lmésfley

1 v @Ew

2 bl @Hib

1 wpmid 2 w @b

2 wHmibd 3 wLEWD
éﬁ]ml_ Qs fweldrenaw

DMIT/2023
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efleflibseflen oimded
CriCam®a@sbd, 2 sAuuEdHuler
LITEUENEIT GUENETEUTEE|LD HeMLDOW|LD

@wwsdled CrrCsrpsermeayib,
afleflibsefler Cavgren eueateumsa b
SMOWLd

LTeUeeTWILD ac‘oéogj Bereur L
aulgaud GQBLUDWPD R

QgrLiréflwner euamereum@LD
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89. Choose the right answer from the following

1. Limiting gradient — Momentum gradient °
2. Minimum gradie‘nt —  Exceptional gradient
‘3. Average gradient - Preiimihary gradient -
4. Ruling gradient — Design gradient

(A) 1 and 2 are correct
(B) 2 and 3 are correct
(C) 3 and 4 are correct
J 4 and 1 are correct

(E) Anéwer not known

Geraumeuaraupier sflurar ufleow Csibdshs

1. aunmby Gpirefley - opg s Crirafey

2. Gopbs Crisfey - dfelwss Cpisfley

3.  synaf Gprafay | - Qs sshae Cpisfey -
4. <pepew Crirsfey ' - ageewliy Crirsfey

A 1 wpgw 2 &ﬁlu.:rrqrm@
| B) 2 wpmd 3 sRurarema
(C) 3 uwppw 4 &nﬂu_lrrecrmsﬁ
D) 4 wpmpw 1 sflureree

E) oL Osfudona

i 43 * : . DMIT/2023
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90. Match the following : |
(3 Minimum width of shoulder 1. 2.00m

in National Highway

“(b) Cycle tracks in urban area | 2. 380m
(c) Foot path in urban area 3. 2.50m
(d) Width of single lane carriageway 4. 1.30m

| @ M (o ()
s 1 4

2
B) 2 .3 1 4
- (©) 4 2 3 1
2 4 1 3
(E) Answer not known

Mereumeuareupenmis QuTmEs)s
(a) Csflw Ap@EreTaaulan 1. 2.00.8
Cagra_fer Gopps LLF is@b

(b) peruyPsHD essHer BLEISET 2. 3.80 18

(©) psriypsHad B LTS 3. 2508
(d) eansear eufllenr ‘ 4. 1.30 S
en@pefluler sLb

@ ) @© @
4) 3 1 4
(B) 2 3 1
©€) 4 2 3
D) 2 4 1
(E) e Qsfwueddana

W A N
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91. In total station sum of interior angles of closed octagon polygon traverse
() 7200 % 1080°
(C) 540° - (D) 1800°
(E) Answer not known
L Lé evCLsafler rymeuiev apapuied cramGarangdlear Qwrss 9_1'_C§asrr66mb
@) 720° | (B) 1080°
©) 540° - (D) 1800°
(E) oferr Qsfwaiicoene

92. The saved data in a total station can be transferred to

.(A) Drawing sheet , '@f Personal computer
(C) ~ Scanner (D) EDM
(E) Answer not known |
Cum_Lé evGLsgafle G&Lﬁ]é;ésuul_'; (CLrLm ugiser adeé wrHPLILBGSDS
(A) G)JQS-)I]'LN_ ST - (B) LirgeTed SLIYLL LT
(C) avaman | (D) migerid

‘ (E) e Qsflweildvenaw |

93. The part of total station capable of storing 900 to 10,000 points is
A Internal memory | B) Memofy card |
(C) Data Recorder . (D) Field computer
“(E) Answer not known o

CLmire evCLsafled srﬁg L@dH 900 aps®d 10,000 yetaflsamer Gellsg meusEL

Henr QamarTg)
A) @enQLiared Guwfl . _ (B) QuwA sri@h
(C) Griinm Quésmii (D) Se@ senile

(E) e Qg,ﬁ]u@ﬂsbd)co

g . 45 - DMIT/2023
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94. In total station set up one should not touch to the tripod

“

(B)
(©)
(D)
(E)

During the survey
Before the survey
After the survey
Day after the survey

Answer not known

- GLmii 6 evGLagen Qo eyi-6, @meumid g ayum e — Qam_sanLng

(A)
(B)
©
(D)
(E)

&iGeu Qe Cumg
siGeu Qaiieushe per
&iGeu Qg Qe
&Geu @ BreméE e
sfen Qzfuefldena

- 95.  Correct set of combination in total station given below

(4)
(B)
©)

)
®)

Theodolite with compass

Theodolite build in EDM

Theodolite with CPS

Theodolite with built in EDM + microprocesser

Answer not known

& QarTRssrur Hater el eraneu C2|_rf|;|_ei) CLeaid@ Qummbgib

Y
(B)
(©)
D)
(E)

DMIT/2023

SCur_eal 5 smibLe

Heum_ear. Gaor. @ar EDM

HCum e ol CPS

Heur e o5 Gor Gdr EDM + ewisGyr ugnavsevt

elen QgMwelerenew
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96. Match the following of Total station :

1

w3 1 4

(©) 4 3 2

(a) Characteristic Computes co-ordinates

- 1.
(b) Capability 2. More skilled surveyors are required
(¢) Advantage 3. Distance units ft or m.
4.

(d) Disadvantage It supports local languages

@ ® ©@ @
A 2 4 1

= = DN W

1 2 3
(E) Answer not known ‘
G e evCLagaflld Weareuheuaraupenn QUMHESIS

(a) @)'afoTrmsdT 1. Gar-gigCar soer sallssd

(b) ;ﬂmd)masd'r 2. Baab Hpew amnips seramenwrariser Comeu
(c) mememGET | 3. smyhusefer welll s6T iy DidRg L

(d) Sewsdr 4. @ odnEnt Qumismer sNsAng

@ ® © @ | —

a2 4 1 3
B) 3 1 4 2
C) 4 3 2 1
@) 1 2 3 4

() sSeoL Asfuciiome

47 o DMIT/2023
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97. Match the following :
(a) Angle measurements

(b) Horizontal anglé
measurements
(¢)  Unit setting

(d) EDM setting

@ ® (@© @

2 4 1
B) 4 1 3
©) 3 2 4
D) 1 3 2
(E) Answer not known

B = DN W

Gereumaupep QUTHSSIS :
(a) Garewr oerayser

(b) deLwiL Carewr arayser

() wele Qg
(d) EDM Qsiigmi

@ b © @
A 2 4 1
B 4 1 3
©) 3 2 4
D) 1 3 2
(E) &le Qsfweloena

&~ = DN W

‘DMIT/2023
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Angles in degrees/min/sec.
distance in metre, temperature

in ‘C ‘

Tilt correction/Tilt compensator

Select IR laser, fine measuring
mode, use R.L. with caution

At right angles clockwise

Canemriugar g ffaser/ BBl b/eApmy.,
&y B rsefléd 2 eyammd ‘C'—ed
gL HHSS /gL smbuaTCaLL it
IR Gosay Csiey Qew, memenflu
DEGL s, assfsams o Lar R.L.
aw 2 uGwnd

Qenigsg  Caravmgefld
I Sanguied)

(Bq-&TTD



98

6 ‘Cold

©

Warm

(E) Answer not known |

Qewiwng).
@ @
(C) @Lar fleow

®

eflenL GgMwaiiama

conditions the LCD screen does not work in total station.

(B) Hot
(D) Wind

ghuCLrd G Ld cvCLsafld oeter a8y evdlfer Couae

(B) Qeuuiub

D) asrrﬁ)@ fswreanmed

99. The length of a ranging rod should be

(A)

1.5m to 2m

@ 2mto3m

©)
- D

3m to 4m

2.5m to 4.5m

(E) ' Answer not known

s

GurLb g,Lq.uSﬂéfr Herd ereueuerey @mEs Coudm@d

@
®)

©

D)
(E)

1.5 8 g 218
2 18 s 35

3 B s 45
2.5 8 s 4.55

fen_ QgMweddena

49
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100. Assertion [A] : A total station is an electronic optical instrument used

in surveying.

Reason [R] : Total station combines EDM, electronic digital

theodolite and a computer into one integral unit

Now select your answer :

\.(ﬁf Both [A] and [R] are correct
(B) Both '[A] and [R] are not correct
C) [A]lis correct,. [R] is not correct
(D) [A] is not correct, [R] is cérrect
(E) Answer not_known
spm [A] : FiGande LWETLRD o TTals 9linsd Gemevi mawdrn

- GLmiLé evGLsdr aremiL@ib. ' o
smgaod [R] - EDM arasigrefls 4edc Lo HCuUT_eer LOMID S LT
epeTnd Qoeanpsg CLm L dGLsar @b,

Epssranb GASEH epow shurar el mus CoibasEH. | |

(A)  [Al vpgio [R] @ran@n s
(B) [A] wppis [R] @resr@is shudene

(O [A] s [R] sflGbeoes

(D) [A] sfiGome [R] st

(E) &L Gsfwueldena

DMIT/2023 | 50 ' &



101. One of the GPS Maps is

0" Thematic Map (B) Ward Map
(C) Village Map | (D) Small Scale Map
(E) Answer not known |

&).19.ereiv QJGS)UUI_‘Q,ra_‘,]Gi) Qe

(A)  smEUQuT@mEr cueTULLD B) auni@® euenyuLLDd
C) &Agmwo eweryuLLd (D) Adw euenyuLLd
(E) ofe_ Osfluciome

102. When

(1) Visible outlines
(i) Hidden outlines
(iii) Dimension line
@iv) Centre Lines
Overlap the Recommended of priority sequence

«f @@, (1), (iv), (111) B) @), (), (i11), @v)
(C) i), (@), (1), (v) D) @), (@), @v), (111)
(E) Answer not known

() Qaeluyp Cam@sar

(1)  vepssULL 'Gasrr@&.e‘n

(111) Qrﬂmnsmé; Car@aar

1v) ewws Cesr@pser

Cuawsgib Curg wearafaoulear ufipgmrssiu L aflmsurag papGu
A) (@), (1), @v), (1) B) @), (), (i), av)

©) Gi), @), (iid), Gv) D) @), @), v), (11)

(E) ofeni Gg.rﬂu.:a&]cbm@

P ' | < 51 | DMIT/2023
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103. Remote sensing tools can be used

74

(B)
(©)
(D)
(E)

Atom to the universe as a whole
In object of all views

Storage in Datas

Show on Earth Surface -

Answer not known

MGwr’ Qe smelufer LiweTLmE

A)
B)
©)
D)
(E)

2 W& QIESUPL g D FTiIFS
QurmaTseeT LMTCILSHE FDUBSLTETS
G rssaar Callliug

B9 2 (Beugms sramaciLg

e GQsflwelerena

104. Best Personal tracking devices.

A)
(%)

EDM - wops

CAD (D) DAQ

(E) Answer not known

Apps sallsg samfuyn smel —

A)
©)
(E)

DMIT/2023

EDM B) GPS
CAD (D) DAQ
ellen QgMwelevrens
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105. The longest of the chain lines used in making a survey is generally
regarded as the :

| M Base line

(B)
(©)
(D)
(E)

Check line

Tie line

Offset line
Answer not known

@@ sanssduded (siCauie) Gisst vwauEssUUGD sudldls Cerhsafld
(Qsulen eneverr) s Berworareng QuTgieurs smSLULIHIGUS

A)
(B)
©
D)
(B

Gueiv enevest

Q&s eveverr

ML MG
Dooll Q&L e

eflen QgMwelerene

106. In GPS position determined by Intefsecting distance is termed

M Trilateration

(B)
©
D)
(E)

Triangulation
Radiation |
Translocation
Answer not known

GPS ow @en_iQesyh serea DausSE, QLEDS DTHEGD WPDD

A4)

B)
©
)
(E)

Lmq(%cm‘_(%uauésr

g DTl GCOF6HT
Crig Cwagenr
q.une&rdu@wnés@a;aqadsr

aflen Qzflwelcrena
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107. Ground stations run by the

A DOD (Control Segment)

(B) GPS (Global Positioning System)
(C) V' Space Segment

(D) Satellite

(E) Answer not known

Hesde o drer duGLagensa Qswidund
(A) DOD (sc@uum_ (@ Qs&Queir)
(B) GPS (@'Ga)rrusi) Beveriur@ Heviib)
(C) Space Segment (6vGuei G&é@was‘vm)

(D) Satellite (g GANI L 9 g QsssiueLg)
(E) oL Qsfucidama

108. GPS is a based system, which gives a uses an accurate
position? '
(A) Sun (B) Stars
(C) Moon M Satellite

(E) Answer not known

- @Cemmue CQurflagaiim Hevib oW SglumLwLns QsTaTh @
givalwwrar Reowss LweTuHaDS.

Q)  @Awar | (B prsgdyn
C) Peor S (D) Gsrigemarr.
(E) & Qg,ﬂmaﬁl@mm‘ , |

DMIT/2023 » 54 &




| 109. DEM means :
6 Digital Elevation Model (B) Demography Elevation Model
(C) Dagital Equipment quel (D) Demography Equipment Model

(E) Answer not known

DEM areruig
Q) ggiLeé geruss wrgf (B) wssér Qgmansudwd @peruss oIS
O yhHrre 2usgeanr wrd - (D) wsser Qsmansuiwe 2 Lsgent wTSHM

(E) &ler Gsflweldeana

110. The main advantage -of digital signals in GPS

(A) Satellite - (B) Signal
W Over analog (D) Sensing
(E) Answer not known

.19, eravo-6in g gL Héarallen pSEL peTemLd

@) Cstymar  (B) fsew

© geur‘r‘ameurré; (D) Qaendlm
(B o Asfudooa

111. How many orbit planes are available for satellite in space segment?
@ 1 (B) 2

@ 3 D4

(E) Answer not known

AarQaafls  ONeledr QewpassGaTdasE@rsE — : SHDILILTMSHET
2_GTemenT ? ~ :

@) 1 | (B) 2

) 3 D) 4

(E) e Qsflweldane

= ' 55 DMIT/2023
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112.

Roads are connecting village and groups of villages.

<
®
©
®)
(B)

Village road

State highways

‘National highways

Other district road

Answer not known

(A4)

(B)
(©)
(D)

(E)

FTe&ET Symob wHmib yrosdear Gwae Qaarsdarpar.
Sgmo &rras)é)asdr |

wrble Q@ EhETMOEET

GCsélw QG EreTaa

@S WL L sre@ser

eflen Qgfwefdene

113. The Normal recommended land width of National Highway in open area

1S
A)

N

(E)

25 m (B) 30 m
45 m (D) 55 m

Answer not known

Ceélw Appereraauien, Anps LGHuler stgryamrons LABETEEILLL gfﬂa)g,ﬁarr
SIEQL ereiren?

A)
©)
(E)

DMIT/2023

25 18 (B) 30 8
45 8 | (D) 558

elen QgMweldrene
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114. Advantage of cement concrete pavement is

115.

(A)

Initial cost of constructlon 1s very high

M Rolling resistance is low

©
(D)

(E)

It requires skilled person
Construction time required is more

Answer not known

AQuwar srhdf sarsden Hemanio

@)

B

©)
(D)
(E)

sLQuragHharar <mbu Qsaay < Hsb
Corellis erdliriiy @Genpeuns 2 ereng
Apewwrer Caime 2per Coemau
sL(wrer uemil Crrb fsLf

elen Qs fwelcrene

The Survey established the centre line of the actual highway is

@A)
B)

©

Preliminary survey

Reconnaissance survey

Cadastral survey

% Location survey

®

Answer not known

QB EpeTamauier awwsCaTmL mw&s 2 Fayb Hlo arencuuden GlLwim eremer?

(A)

(B)

©
[

(E)

wsafleo® Bl eranel
(goéfrso’r’u_rru'_lm Hloo sierene
QaLevLye Bl emenal
@oulL flo ereneu
ellenL Qg,aﬂueﬂei)a)m

87
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116. The portion of the roadway designed for the used of vehlcular traffic only

117.

118.

DMIT/2023 : 58

'(( Carriage way ' (B) Shoulder

(C) Footpath | (D) Express way

(E) Answer not known

arsar CUTEGTSEIESTE WL [HLD uigeUMLESLILBD sTM® PLILIEGS
(A) Csrg Gau - (B) GameLir

(C) perurms (D) <i$Caus auf

(E) &le Qsflueldeme '

How much width is required for footpath as per IRC?
(A) 2.00m (B) 2.50 m

() 150m v 130m

(E) Answer not knov_vh

pa_urensuien sson IRCQaruig

(A) 2.00.8 B) 2.50 .8
(C) 1.50.8 -~ (D) 1.308
(E) e Ggfwelcrene

portion of a roadway of an urban road reserved for the

pedestrians -
(4) Shoulders ) Foot path
(C) Base course (D) Carpet

(E) Answer not known

B&TULD sTeneuden e UGS unssThs@ErssTs @g,]é;&;um'_@eirmgj.
(A) Gegmérir | (B) pev_ureng
(C) Guev Gamita (D) smiGuL

(E) &fer Qsflweldame

1



119. Road formation should be cm above the maximum floor

120.

121.

(E) &ler Gsfludldme

level at that area.

(A) 50cm - | ‘tg) 60 cm

(C) 65cm (D) 70 cm

(E) Answer not known

s@ywLLEHd QBHs — G&.8. sfsures 2wisdpE Cued st
SnwssLIuL. CauamhHib. . »

(A) 50 Qs..8. (B) 60 Qs.i5.

(C) 65Qs.8. (D) 70 Qs.18.

(E) oflerL QpAwedera

A pedestrian crossing the roadway is the name of
(A) Guide Island \@( Refuge Island
(©) Trafﬁc Island : (D) Crossing Island

(E) Answer not known

pOLUT®S urflsdr gr@@aw  UMESTUUNS SLUUSHE SI@DESILLL
SierwlbHE@ erery Quwirr S

@) @56 Soy B) Qroug o
©) grmis Say D) Sy oy
(B) eeL Qgsflweldama |

is provided at right angles to the abutments

(A) Wing wall ' ) Return wall
(C) Curve wall | (D) Inclined wall
(E) Answer not known

UL Cwer-H&E AEh@GSSME DMLESILL IR (FEEGD &eul
A) @pses s (B) Alien seuir (=) Hmby seur

©O) auaearar seui - D) smieurer seuir -

59 DMIT/2023
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~ 122. Formation of road most important parts

DMIT/2023

(A) Roadway

(B) Drainage way

(©) vFormation way
m Carriage way

(E) Answer not known

WPW®LWTE S@EEILLL FTaa@udler aﬁ(g)é;&]u_lmrrarr BIGES
A) st e

B) B sreeumis aufl

©O) o@amssuulL af

D) eurser auflssLd

(E) oo Az flueidaa

 123. National highways connected to places.

(A) Connected to State and Town city

B 'Connected to Village road

M Connected to Port, capital, Important cities

(D) Connected to District head roads

(E) Answer not known | |

Casdlu) QpGHEheTanEHeT @ merésLILIL(HeTere.
A)  wrhosdd 2 dter pajrismen @aartsdng

(B) Agrogder o drer sraasmen GamansSng

(C) sopwsb, sSOOESID, WPEHU BETRSMET @aarsAns)
(D) woHp wreul L sTOsE@maT @mcméseﬂmg,j

(E) ofen Gsfwedvanew

60 .



124. Name the levelling method used to find the level difference between »t(vo

points?

(A) Differential

(B) Reciprocal
-Simple

(D) Profile

(E) Answer not known

@ran® YeraflsEnsE @an Gu o eram 2wy Geaumurien sarL_Hluybd Wpevm
(A) Differential (958 wnswman) '

- (B) Reciprocal (urevuiy)

125.

1

© Simple (crefigman)

(D) Profile (sweleunid)

(E) ol Ggflweioema

method of levelling in which the relative heights of points
(A) Trigonometric levelling

(B) Plane table levelling
! Direct levelling

(D) Indirect levelling

(E) Answer not known

wpaopuiler Qaoeueln ydreflsar FOUBSLIULL 2 WIKISMET SHTeRT

CEUE

A) sCsrammafiwed Qaeuein
(B) QGGarer GLGer Qaeuai
(©O) Corgwrer Qaeuein

D) wvepwswrear Qeeuein
(E) @SIGJ)L Gsflueidma

61 " DMIT/2023
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126. Colour used for cutting in profile levelling
¥ Red |  (B) Yellow
(C) White (D) Brown

(E) Answer not known

HG@grenue Geveuadimidler an'_u_l.'.u_l@m QpSHem T
@) Aany (B) wessar

©) Qa)chm_m , | D) uyeyen

E) dor Qsfudoma

127. Reciprocal levelling is used place
(A) Bench mark not visible

(B) Flat terrain

M Obstacles are there
(D) Highway construction

(E) Answer not known

QrflyGrraer Qeveuai @l_réjaserﬂd) vweruhEDG!.
(A) Qugpsonis uniss Wiwrs Heaw |

(B) steolwrear flouuEs

(C) swLsar QmsEw

D) OpeessTere Caume

(E) e Qsflueldene
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128. : adjustment the axis of rotatlon vertical and to ehmlnate
the parallel every time of levelling instrument

{ Temporary adjustments

~(B) Permanent adJustments |
(C). Arithmetical adjustments
(D) Simple levelling
(E) Answer not known

Qweu@Slrm s(medlenws @@Jqurr@ @opub Howusdld  QUIGSHID Gurg
Qet@GSSTHa|D, LTSRS @QeamuUIsalb HMLUILSHE won

Q) spsrdlswrs &M Qsuwiyib
(B) fHrbswrs efl Qewiwyw
©) sarlign ey

(D) sngmyemTomer Qeveueds
(E) oo Qpfwefidea

129. The building bench mark colour is
(A) Prussian blue

@r Crimson lake

(C) Burnt sienna
(D) Burnt Timber
(E) Answer not known

SUL L Qu.@émrrr'ré; GOUSL g6 Gavit
(A)  Qgeigwerr Beod

B) AHtbger Ces

(C) e Awerarm

D) urer gbui ‘

(E) e Gsflwuelcorena

i | ' 63 ‘ ) DMIT/2023
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130. One of the principle of levelling

(A)
(B)

«

D)

Inelined area
Vertical line of sight
Horizontal Line of sight

Boundaries of a property

(E) Answer not known

Qaveueiii-ar W&Hlw Crrssnisaiies Spasamcupdld erg QUTHHS Falgwig)?

A
®)
©)
)

- (®

sflaygemer sraTUSHS,
@ urrenauls Yerafludler 5851856

@ umfeneuls Yerefluden flenL ol L& Car()

SOV L @@ uGHer LayTL A samsdL

eflen Qg Mwaelcrene

131. Indirect levelling method another name is

(A)

g

©)
(D)

Plane table levelling

‘Trigonometric levelling

Reciprocal levelling

Simple levelling

(E) Answer not known

wapws Qeealii-&@ wHbpmm Quwir

(A)

®
" QreflluGrrad Qeveuedin

©
(D)

- ®

DMIT/2023

WQemudlen GLfer Ceveuaiim
4 Nsarm@uifé Qeeueiin

Siber Qeveusiim
A Qgflwaeldane

64

1



132. The magnetic bearing of a survey line is S 25° E and magnetic

133.

declination is 5°W, the true bearing of the line 1s

v s30°E

(C)

(E)

S20°E

Answer not known

(B) N30°W
(D) N 20°W

2@ S Carlyer s1hs HamssGarar S 25° E wpmbd s1hs @nésnd 5°W

arafled, Camlar 2 amewwnar HassCamer eraner?

(A)
©

®

'S 30°E

S 20° E-
clen Qsfwellévana

One hectare equals

(A)
(B)

100 m?2
1,000 m?

*@ 10,000 m?

(D)

1,00,000 m?

(E) Answer not known

@ QansCL(h&EE FWLWD

A)
(B)
©)

D)
(E)

100 egiy WS
1,000 ag5 BSuUL it
10,000 &gy LBﬁ;L_fr
1,00,000 ggy B
Ao Apfucidme

65

(B) N 30°W
(D) N20°W
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134. Magnetic declination at any place

1
®)
(©
(D)
()

Ths @LsSHId sThsLe eipsfunerg

(A)

®)
©)
D)

(E)

Does not remain constant

Fluctuates
Changes abruptly
Remains constant
Answer not known

Hlevowrs @mwLriugdama
THD @DEEEISET
HieQyerm wrHHnG
Hlenawreng

clenL Qs flwaelerenaw

135. Diurnal variation of magnetic declination is

A)
v

©
D)

(E)

Greater at equator than nearer the poles

Varies from one minute to 12 minute at different places
Less in summer than in winter _

Same at all latitudes and during different months

Answer not known

Cusangs (smps sflefer) QLsdlCarsafian enyiaréd CouflCueser (Hearefl wmhmid).

GTETLIG,

Q) smaunsald mGs Qruuaseair ywsdu Crasuie élé]&i.LDlTaS B m&EGW

B) @saew Gmguufr@a;sﬁ @ RO sHmbs) 12v‘r_€lu5]|_Lb oy QeucuGaup
@Lmsgafler wTmUHL '

(C) @elistosgmsed CataL sragdd GopaTs QHEEGLD

(D) eoor eaamswrar Coliggul wHombd Cepull  wrghksele FoWLTS
CECT, |

(E) &lenr Gsfweldena

DMIT/2023
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136. The fore bearing of lines OA and OB are 32° 30' and 148° 00'. Find the
angle I'AOB
(A) - 115° 00" f{) 115° 30"
(C) 120° 00 ‘ (D) 120° 30
(E) Answer not known -
OA wpgb OB aerp Gsmiyer (parfass Carambd operg 32° 30' whmib
148° 00' erafled I AOB aréveuera @ms@id ?
A) 115°00' (B) 115° 30’
(C) 120°00' ‘ (D) 120° 30’
() o Qsfueldvere |

137. Fore bearing of line AB is N 43° 30’ E. Find out back bearing. of line AB.
e S43°30W (B) N 43°30'E
(C) S43°30'E - (D) N 43°30'W.
(E) Answer not known ’

AB Gsmigenr ~Gumi Cuifia N 43° 30’ E. AB Cam e Gus Guufbicns

sl
(A) S43°30'W A (B) N 43°30'E

(C) S43°30'E (D) N 43° 30' W
(E) e&ler Qzfweldene ‘

138. Convert the WCB 12° 30' to quadrantal bearing

-{) N 12° 30'E | (B) N77°30'E
© S12°30'W (D) E 12° 30' N
(E) Answer not known

12° 30" erémp WCB (ppeu L Guitiens) (@B) sroeu L Guiiiists wrpp

(A) N12°30'E _, (B) N77° 30" E
(C) S12°30'W (D) E12°30'N
(E) e&ev Qzflweildvene
= 67  DMIT/2023
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139. The Bearings are designated by the two systems of

(A) True meridian and magnetic meridian
(B) Direct and Indirect
’ (ﬂ Whole circle and quadrantal bearings
(D) Prismatic and surveyor compass
(E) "Answer not known

Cuilti@set ———— @15 apaeaild Ha&@Ew
(A) ey Quiliqwer whpmibd CuwsCeargs Quiywer
(B)  Crygpap wHpid wEOPWS oD
©O) wpywerr Gufi whmb sroeu i Cuin
- (D) l_CI]IﬂGT'DGLDL'_lq_éS wHD FTGaWITEL STbuE
(E) &leor Gsflualdame

140. Compass Surveying to given beéring 1s less than 180° is mention which
symbol?
(A) Fore bearing = Back bearing
.M Plus or minus sign
(C) Back Bearing
(D) Bearing
(E) Answer not known

gmbuey  #iGeauuder QarhssiucL  Gufin 180°-&9 @opauns @mbsred
SOIG GHUGGADg. |

(A) e Guilm = Ger Gufm

(B) Werev idveg ewarev @M

©) Qenenrmed Gufm

D) Cum
| (E) e&len Qzfwelldvena
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141. The rhagnetic needle with the horizontal plane is known as
M Magnetic dip -
B Magnetic declihation
(C) Local attraction |

(D) True bearing
(E) Answer not known

SThHSLIQ oarél QGIDI_LDL'_I_. SETSG|L_6GT @mmﬁ—'@ B mHsTeD
@)  sipsue pal s0ez Yoo

(B) asrﬁr_i‘,gn.j@) sflay

(C) edrefl mittiy

(D) o awew Camawtd

(E) oten Qgrﬂu_lsﬁ‘lsi)a@

142. The Large size of plane table is
& 75cm x 60 cm x 1.5 cm
(B) 100 cm x 80 cm x 1.5 cm
(C) 120cm x 100 cm x 1.5 cm
(D) 140 cm x 120 cm x 1.5 cm
(E) ~ Answer not known

swger Lms FiGauld Quilu ere) LwMS

(A) 75 Qs.18 x 60 Qz.8 x 1.5 Qs.i5
(B)‘ 100 Qs..8 x 80 @s..8 x 1.5 Qg.15
(C) - 120 G&.8 x 100 Gs.8 x 1.5 Gs.18
(D) 140 Qs.8 x 120 Gs.8 x 1.5 Qs.8
(E) oL Gsflueidame |

o ' 69b
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143.. The size of the title block as recommended by the BIS is

A) 175mmx60mm . | 6 185 mm x 65 mm
(C) 165 mm x 60 mm (D) 175 mm x 50 mm
(E) Answer not known

Curgieurs  @QiHu s firemugden g  s@eny - Gemsdear  arey

(A) 175 8.5 x 60 8.5 ~ (B) 185 8.5 x 65 8.5
(C) 165 8.8 x 60 1615 (D) 175 0.8 x 50 8.8
(E) oL 0sfweloeame |

144. The left side margin line of drawing sheets Agp and A;
(A) 10mm () 20 mm
(C) 15mm o (D) 5 mm
(E) Answer not known :

Ao, A1 euenguL grraflen @L g LGS wiEar eraaaTay
(A) 10 0.8 : (B) 20 8.8
(C) 15.18.8 D) 5 8.8
(E) o9er Qg,lﬂu_l.e)ﬂei)mcv

145. The biggest sizes of drawing sheet is
X A ~ ‘ (B) A:
©€) As (D) As

(E) Answer not known

s Quilw SyeTeyeLW eueFULgTeT -

Q) Ao : (B) Ar
C) A | | D) As
(E) &l Gsfwelcrana

DMIT/2023 : 70 b



146.

147.

148.

1

Inking pen is used for drawing , in ink.

(A) Writing » (B) Curves |

(C) Shades . , (ﬂr Straight Lines

(E) Answer not known

awaw QsrearH ———— — uamrausH& aw GuerT upcﬁu@ﬁ,gﬁu@ﬁmg
(A s R - (B) au@mereysar

(C) Hpesdr ‘ (D) CpiGan@ser

(E) o&Mer Qgfwellerana

One of the instrument working function of T;Square, Set-Square,
protractor, Scale '

(A) Flexi Curve | (B) Scale
Mini Drafter - (D) Fastener
(E) Answer not known '

lg-cvQaTwiT, epe@wL LD, uTmsbmer, amm@asrrev S fweapdlenear imarsgl
Ceauamaerw Qe @Gy &med

A) SuQersall cueneray B) sareyCsred
(C) Befl gymeiiv D) sumev@Lemit
(E) el Qsflwefdrere |

The part doesn’t belong to “T" s.quare is
(A) Working edge (B) Blade
(C) Stock v Ebony

(E) Answer not known

T augeu 5L g8 [auapguL &Hel&EE) Qg,m_r'nfﬂmsbrrg, BIGE
A) Cawa poar (B) s58 usd

(O) so® uGd [evLrs] - (D) euref

(E) e Qsfweiicvene
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149.

150.

151.

DMIT/2023 : 72

1s used to draw smooth curves which are not circular.
(A) Compass (B) Protractor
w French curves (D) Procircle

(E) Answer not known

QL L QUIgUS®S ST G0(IDS-SpaT UENETSET QUL LweTU (Heug
(A)  smbuev (B) Csrewrwomef

(C) Yrengs euameraysar (D) GCyrsidear

(E) e Qsfweldvena

According to the B.I.S. in the trimmed size of the A3 drawing sheet in
mm
@ 297 x 420 " ~ (B) 594 x 841

(C) 841 x1189 (D) 210 x 297
(E) Answer not known

Qpdw g7 Hiewrw slioug Qelrouce A3 eepul grefler oatey .18

(A) 297 x 420 | (B) 594 x 841
(C) 841 x 1189 (D) 210 x 297
(E) o&fe QsfAweldrens

Area of Ag Designation drawing sheet is
(A) 0.25m2 ’ (B) 0.125 m?
W 1m? | (D) 0.5 m?

(E) Answer not known

Ao awemguL srefler LiFLLaTey

(A) oc2semySici . (B) 0.125 sgip B
(C) QR FIT BLLT (D) 0.5 sgiy Bt
(E) &leor Qsfueldeme '
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152. In a compass, H pencil sharpening to - paint to draw Arcs or

circles.
(A) Cylindrical (B) Conical
(C) Chisel edge @ Bevel

(E)‘ Answer not known

@@ sTbuelle, d dwg QUL Lib auareusH@. & Ouerdled
. paarwns FauliuBHEng

@A) o gwar (B) sniby;

(C) 2efl efefliby (D) 9Caued

(E) aflenr Osfwefdena

1563. —————1s the language with different types of lines and alphabet.
(A) Geometrical Drawing (B) Line Drawing
Engineering Drawing (D) Art Drawing

(E) Answer not known

——  aaug . udCam eaems  CsrhHsemerub | Gr@ggésa;mmw.b
Qossnsmenud 2 erer s QumfwmEib.

Q)  eagelwd aueruLb (B) Gsr(® euenyuLd
(0O Qurdwe aieyuL ‘ (D) sewe cuewguLLd

(E) e Qgfweidame '

154. How many sides are there in a Heptagon?
(A) 6 sides (B) 5 sides
2 7sides (D) 9 sides

(E) Answer not known

2@ LeGsTansHd aHCHTERID Tsman Lsshsmer QaTaTLg?
(A) 6 ussbd - - (B) 5 ussw

(©) 17 ussw ' (D) 9 usswd

(E) &err QsAweldene

P _ 73 - DMIT/2023
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'155. The properties of trapezoid is

(A) Any two of sides are equal
(B) All sides are equal

M Any two of its sides parallel -
(D) Opposite sides are equal
(E) Answer not known

Benenr eNeUSSHDETAT 6D WITETRIGET

(A)  gsreug @ranh LsSEISET FOD

(B) <oaiss ussmsEyb swobd

(C) gsreug Qranh LssD G@aTuraTg
(D) edi usshser swb

(E) oL Asfuciome

156. The Angle which is more than 180° is

(A) Obtuse angle
,M Reflex angle
(C) Triangle
(D) Adjacent angle
(E) Answer not .knde

Gameard 180° GuopurLg.
(A) &M Camertid
B) Qeneuenerey Camantid
©) &Csmemmd
D) uss Cerewrd

(E) elen Qsfweldena
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157.

158.

Mention the type of triangle in which all the three angles are less than |
90°

" (A) Isosceles Triangle

(B) Scalene Triangle

v ‘Acute Angled Triangle

(D) Obtuse Angled Triangle

(E) Answer not known

aThg euams pECaramrsdler vmargg Carambaennd 90° &@ Gopaurs @mEdh
(A @@swuss wsGsramd

B) <isvuss WeCaramid

(C) GoaGsran upsCamenrid
D) 'aSl:ﬂGa;namr Wp&Csmewtid |
E) S AsAucidme

If a triangle has sides equal to 5 cm, 4 cm and 6 cm, then find it

perimeter | :
(A) 20cm - | ‘fg) 15cm
(C) 10cm . " (D) 5cm
(E) Answer not known
@G WiGsrangfdar LssD 5 Qs.8, 4 Qs.8, 6 Qs.8, aalledr isar sHpeTae
seTH9g ‘ ’
(A) 20 Q&8 o (B) 15 Q.8
(C) 10@s.8 - (D) 5 Qs.18
(E) QQGG)I. Qsfweldee
75 | ' DMIT/2023
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159. Acute angle 1s

(A) More than 90°
'@", Leés than 90°
(C) Equal to 90°
(D) More than 180°
(E) Answer not known"
GniCasranmd erearugl Spsaarroupdled Gng?.
(A) 90° &@ Gue 2 drerg
(B) 90° &@ @mpeuns o dreng)

. (C)  90° 4@ swwons o dterg
(D) 180° &@ Guwe 2 dTeTg)
(E) e Gsfweideame

160. Two mirrors are used for offsetting is

(A) Cross-staff

(Bf Optical square
(C) Miner’s dial
(D) Prismatie Compass

(E)‘ Answer not known

SlIQE TRULSHES QTEn® sSaTanmTyHd aTdéd LwaTLBHSsLUbug
D) ‘s wiLsGamd
(B) gall@wé sgipb
| (C) ewanriev Lwe
D) uviLs Hewswerad
(E) e QgMwelcrana

DMIT/2023 76
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161.

162.

163.

Line which is parallel to the surface of still water.

M Horizontal Line | (B) Vertical Line

- (O) Curved Line (D) Inclined Line

(E) Answer not known

Casnudl PG seamantier LTLILESE @mmru_lrras o eer Camliger Quuwii
A QeLwil Gsr® - (B) Qemigss Cam®

(C)  aueaer Gar( | : (D) smis Can@

(E) oer Qsflwefdrena

If three sides and Three Angles are equal. It is called

(A) Right angle triangle | iBf Equilateral trianglé '

(C) Isosceles triangle (D) Scalene triangle
(E) Answer not known

Ww&Caramsslen epemm L&SRISEHLD, Caremriig@pd Fwb erafle,
SipPssLLBEDng.

(A) Qsmi Garewr p&Gamanid | (B) #w uss wsCaramid

(C) @ swuss asCamamd (D) <510 Lss W&ECaramd

(E) ofer Qsfweildrena

Part of circle with radii making 90° with each other is called as

(A) arc ) (B) sector

(C) segment M quadrant
(E) Answer not known

eresTml

paTm&CsTeTD 90°—c‘o SIDLHS Y TEISETTED &@mna;a;uu@m el LsHlenr umsD

TR SMPSSHLILIHILD.
(A)  euLefe (B) e L Gsrewr u@d
C) arrs gam® . | D) s u@g‘,l |
(E) e sfwueiome ’

77
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164. During ranging quick movement of right arm towards left side means

(A) Move considerably to left |

% Move considerably to right
(C) Moveslightly toleft
(D) Move slightly to right
(E)> Answer not known
Crepdlu-er Gung QL g Lésb Crrsdl eugl s (PUP®WLWTE DHDESSGLD
Cung

(A sa&flswrs Qg yowrs pere
(B) saflgwns msﬁgj LTS B&HTeyLD
©) ahg @Lg,j LDIDTS BEHTaLD.
D) Adlg g ypwrs psred
E) oL Asfudome

165. Find the length of one link in Metric Chain .
&) 25em & 20 cm
(€ 15cm A (D) 10 cm
(E) Answer not known
QurAé Qsudafd gm iis-ar Serd ereuauaay
A) 25088 |  (B) 20 a8
© 15Qa5 (D) 10 Qa8
E) oo Asfuciome

DMIT/2023 | 78 =



166. Match the following :

(a) Linen Tape 1. made of an alloy of steel and nickle
(b) Metallic Tape - 2.  made of linen with brass handle
(¢) Metric steel Tape' 3. made of linen tape reinforced with fine

brass or copper wires

(d) Invar Tape . 4. made of steel or stainless steel

@ ® @© @

“ 2 3 4 1
"B 1 4 2 3
© 3 2 1 4
M 4 1 3 2

(E) Answer not known
Gemeu(meuareupenpls QuTmSSIS :

(@) &Gmer GLu 1. cved wHmID ;Elés#‘b SHOEUWITE) aebarrgj
(b) Quirmels G 2.  Qsszemer mesuﬁlq.uL_éﬂ ACparmed ypeng
(o Qanﬂé; evieed GLL 3. Quadu Gssmar DS Q&t'_lq 83Lblﬂ.liJlT6'D
| ' augigpl L iUl SGpar GLu -

(d) | ~@Gi‘sra_|rrr'r, G 4 ed Soeg HBUNGESTS LT yag)

@ ® © @

@a 2 3 4 1
® 1 4 2 3
S © 3 2 1 4
® 4 1 3 2

(E) &ler Qsfweldena

79 DMIT/2023
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| 167. Crosé staff used for

(A)
v
©)
(D)
(E)

Measuring approximate horizontal angles
Setting out right angles

Measuring bearing of the lines

Setting out obtuse angles

Answer not known

Agrav oLl 6TaMH@ LweaTLhEsLLGEDS ?

(A)
(B)
©)
(D)
(E)

Carymuwrer HeLwr L Carambismar 2ieTelHsd

QeRICsTERTRISMET MLDSSH

Gan@aeafier Gulis eTelHsed
A ACsTamThEIGMET DMLDSSH

lenL anﬂu_leﬁlci)meo

168. How many links are there in Engineers chain?

A)

E)

Qumrdwimer QFuller-@ed 2 arem kidev-6iT cTarTewt&EMma

(A)
©

&)

DMIT/2023

3 (B) 66
100 | D) 150

Answer not known

33 - B 66

100 (D) 150
oL Qs Mweldene
- 80
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'169. Match the following type :

- (a) Ranging Rod 1. to drive on the ground to mark the position
of station N
(b)A Wooden peg 2. for marking the ends of full chain lengths
(c) Arrows 3. for setﬁng out accurate Right anglés

(d) Optical squares . 4. for ranging of the survey line

@ ® @© @

A) 3 2 1

B 4 3 2

- ©) 2 1 4
w4 1 2

(E) Answer not known

CO W - A

" Qémeu(md eums@WL GUTBSSIS :

(@) Grepdm gr@ 1. evGLser Beveoriyaraflwns gagule

' udssubhEng
(b) eyrar Qus 2. wpu Qsler E,m,sﬁm Q‘,omme;mmés' G&N&H gl
(c) gCgmev 3. godwwrar QehCasransms DND0ES

(d) <ugss wQsmui 4.  #iCea eewamar Crargn Qauiw

@ b @ @
@ 3 2 1

4
B 4 3 2 1
©2 1 4 3
4 1 2 3
(E) elevr Qgfweldene
= | 81 o DMIT/2023
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170. Metric chains are generally available in

(A)
(B)

10 m and 20 m length

15 m and 20 m length

27 20 m and 30 m length

(D)

25 m and 100 m length

-

(E) Answer not known

Qurgieuns Qi Mg Qgufer <S|CTE&ET.

(A)
(B)
©

®)

(E)

10 8L whmib 20 B Barbd
15 S whmib 20 8L i Bemb
20 B wHmbd 30 BLrLi Herd
25 5L wHmbd 100 B Bembd

een_ Qsflwelereney

171. Gunter’s chain is feet long.

(A)

46 (B) 56

& 66 | D) 76

(E) Answer not known

SesrL_LiT Qs 2lig Berapenwigy.

@ 46 ®) 56
© 66 | (D) 76
(E)

DMIT/2023 -
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172. For setting out the work on the ground

173.

174.

1t

(J ~ Location survey (B) Preliminary survey
(C) | Topographical survey D) Engineering survey
(E) - Answer not known |

saquie) GCouamasmer SaLLILISHETS

Q) @mui &#iGe - (B) <yrbu &iCeu

O Aevuguy &7Ceu : (D) Qumhu@wer #7Geu
(E) e Osfwueldeama

Which survey is carried out for constructlon of road, water supplying
system and sewer?
W City Survey (B) Cadastral survey
©) Engineefing survey (D) Topographic survey
(E) Answer not known - |
FTO®, G4BT euPrIsD LD@QJ.LB - sfleft  ewss aps G e
GupQamereriiuGdms ?
A) A sGeu ' : (B) sLevigye siCeu
(O Qumilue siGeu - (D) CLmiuGur Agr9ssd siGa
(E) &lenr Gsflueldoema
The following one of the method is not related to the graphlcal method in
three point problem.
(A) Bessel’s method (B) Liano’s method .
(C) Methods of arcs 5 M Lehmann’s method
(E) Answer not known R
Spsaam_cupdler e Q,ouqerrerﬂ sansHe) o 6T eueyey (5066@ - elem
QAsmiLenwdodene
(A) GuAde P (B) evaGarmev aperm
©)  Swsafan L) (D) Gawerrev apem
(E) e Qsfwueloema | |
83 ' DMiT/2023
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175. Orientation is the process of

S

(B)
©
(D)
(E)

Rotating plane table such that plotted lines in the drawing sheet
are parallel to corresponding lines on the ground

Centering and levelling the table
Transferring ground points to the drawing
Drawing rays to new stations '

Answer not known

- Cprée flevp erendlp Qewcewpapurarg

(A)

(B)
©
(D)
(E)

swger Loosow sHHl ghsmGa ammuiuulL Carhamar ﬁmggw 2 _@Tem
908 Yetell&@méE Qamamuns eveuliLg

@LWILHSSSH LHDID HlaeliubhSSeib
s YeTaflaemen, auamyuLsAn@ LrHHise
HAw flaneowuniseEps@ Carhasmer euamrsed

e Gsflwelevenaw
)

176. How many methods are used to solve by three point problem in Plane
table surveying?

(A)
(B)
©

5

(E)

&om

6 methods
5 methods
4 methods
3 methods
Answer not known

DETEDMEL  LOMS ‘@m,m oewade (Plane Table Survey)

wpuyerellssansms Siss assaman (y)aog)aserr 2 _GTeme ?

(A)
(B)
©
(D)
(E)

DMIT/2023

6 peapaer
O pevpaer

4 aperpaer

3 @mmasm
en Qsflwalcrene
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177. is the simplest Graphical method and is commonly used in
Plane Table survey.

W Bessel’s method (B) Bowtitch method
(C) Magnetic method (D) Graph method
(E) Answer not known

soger uw@s &iCeuled Wsab aafl@owrar Armidssd @ G]urrg,jeurras- o

vwetu(HSS Fniquig

(A) Qusaev aperp (B) Quemgt: apenm
(C) s&mbs pew (D) g peop
(E) &ler Qsfweldvena

178. The following statements are true about Plane Table adjustment .
@) Slit and the wire in the vanes of the alidade are vertical
(i) The plane of the table is horizontal
(i) The horizontal axis of the supporting frame is truly vertical.
(A) - (iii) only
(B) (@) and (iii) only |
(1) and (ii) only
(D) (i) and (iii) only
(E) = Answer not known
EpsarL aursduniseald swger uoms slbsLugHEG 2-amamLWLTaAT®mE ?
() oG -ar Caualled 2 6er guiit P N QstiGssrang
() veamser urLUTaE SmLLLLD RS
(iii) suGumigm GCTD el HFs CshiGSsTans
(A) (i) wLEw
B) () wpmd (i) wrEb
©) () wpmd (i) v Ed
D) (i) womd (111) wLEHW
(E) oo Qsflweidame

P _ - 85 | DMIT/2023
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179. Name the following :
It consist of a metal or wooden rule with two vanes at the ends.
(A) Trough compass

@ Plain alidade

(C) Spirit level
(D) Plumb bob
(E) Answer not known

Yemeupeuareupder Quwery GHIAEG :

Qg 2Corsb bag wissmd ar warCstd @sar Gramd emansaflgib
Geuetiger 2 ereme.

(A)  gra0 sTbue

(B) Qevarenr gjamaCr
(C) 55 wLL s

D)  gréE GG

(E) elerr GgMuelcwana

180. The Method of Surveymg in whlch field work and plottlng work are done
simultaneously is called »

(A) Compass surveying
(B) Levelling

M Plane tabling
(D) Chain surveying
(E) Answer not known

Sl @itd wHpID LT gk @is-ser GT Crrsded Qeuwiu@w (7Geu-ud)
sam&QsHE@L e T DMPSSHLILIHILD.

(A)  smbuev FrGeuuf
(B) Qeeudim

(©) uGerenr GLGafNm
D) Qslen sTGeuudm
(E) ofen G\g,rﬂwaﬁ]d)mm

DMIT/2023 = 86 ' =



181. Match the following :

(a) Alidade

(b) Trough compass
(c) Plumbing fork with bob
(d) Spirit level

@ o @©© @@,
« 3 1 4
@) 2 3 1
©) 4 2 3
M1 4 2

(E) Answer not known

L = DN

Qerreumeuameupenmls QurhSgis
(a) G |

(b) q.qrr:ou SmDLIGY

(©) Gemmb G SCumis aflg L

(d) ev A Qeveued

@ . ® @ @
A) 3 1 4 2
®2 3 1 4
©) 4 2 3 1
@1 4 2 3
- (E) en Qsflweiidvena

87

For plotting the north
line on the plan

For levelling the table
For sighting the objects

. For transferring the

station point from the
paper on the board to
ground and vice versa -

Qerrefled auL&&s CamienL

AL ® euegw

Cuergerw gwe QgFwcusH(&
QumpLsemery
UrriugH&Ts

CLager Lereflenws
Curinged o drter &THHSS
Qobs  sMIGSG  WHOID
Cpiwmprs wIHHIUSHES

DMIT/2023
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- 182. The following statements are true about plane table survey

(1)
(i1)
(111)
(A)
(B)
()
.

(E)

This method is’ suitable in magnetic area

It is suitable when accuracy required

This survey cahnot be done in the rainy season
(1) only

(i) and (ii) only

(1i1) and (ii) only

(i) and (iii) only

Answer not known

Epsam aunsfurisaller sgar LS &iGeu-&@ 2 @merwnrareel

0
(i)
(111)
@
®)
©
D)

(E)

DMIT/2023

&1HS Homs 2 arer uGHsalled 2 sbs wan

gloalwrer sieTey Ggmsuu@da@uﬁgl Qe 2 5H55TED
wepsransaid @bs survey Qeuiw Quens

(1) wL@w

(@) wppid (i) wrEw

(111) mmgm (11) .LDI'_®L°D

(1) wHmb (1i1) i Eb

elen Qgfwelereven
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183. Match the following :
(a) Camber

(b) Super elevation

(c) Sight distance

(d) Gradient

@@ . ® ©
(A) 4 2 3
& 3 4 1
() 2 1 4
D) 1 3 2
(E) Answer not known

Qemeu(peuaraupenpls QuUT(HEsIs

(@) Gswur

(b) @L‘Jur'r eredlGeuagein

(c) unirereu gryid

(d) HCryigwebr

@. b (©

(A 4 2 3

B) 3 4 1

© 2 1 4

D1 3 2
(E) 9L QsfMwafcrenay

(d)
1

2
3
4

89

The distance along the centre line
of a road at which a driver has
visibility of an object |

The - longitudinal slope of
formation level of a road along its
alignment

The convexity provided to the
surface of carriage way above its
edges on straight portlon of a
road

The inward transverse inclination

provided to the cross section of

the carriage way

@ srevauier evwws Caml(HLer

2 6Tem . iHle QUOBT @(F
Qumpeflen Qsfla) Hlenewverws

Qg mer(herermit

@M sTeewlien 2 (Haurssser Berwmer
smiiey Sigen FreowliLLen

- @ sreveuler Crrrary u@Hude

sigen afleflbLsEns@ Gl eursar
aufluller GupHuridbing mgprma;uu@w
&efloy

aunsar aufluilen GIEGL LGHES
auPrRISLLIGDL &m@pn&élm GSNI&ES

smiia|

DMIT/2023
[Turn over



184. The road camber is provided for
(A) Appearance
(B) Strength
Effective drainage
(D) Increasing the efficiency of driving
(E) Answer not known

smemowld Cabul mwEslILBeug
A)  sipsrer augeud
B) uewn |
(C)  vwer 2 érer cugsTDd
D) @ pafer Hpaw aHafss
(E) &leor Qsfweiloame

185. For road the minimum shoulder width recommended by IRC 1s
¢ 25m | (B) 3.5m
(C) 45m (D) 5.5m
(E) Answer not known |
FTO® J@LLILSHE BT LNpgr Asuis CagmoLi-6T GPDHSULF 2i6Tay
(A) 2.58cw (B) 3.5 BSvin
C) 4.5 80w (D) 5.5 8w -
(E) e Qgfweldrena

186. The value of ruling gradient in plain or rolling terrain is

W 1in30 . (B) 1in20

(C) 1in15 | (D) 1in 10

(E) Answer not known

s6leuall bz 2 meEpw Hlovugiler aurbys sfwragder wLiL ererer ?
A) 1in30 (B) 1in 20

(C) 1in15 (D) 1in 10

(E) &feni Gg,rﬁu_le_ﬁlsi)mco ‘ '
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187. Match the following :

Slope 1inn

(@ 1in25to1in 33
(b) 1in33to1in 40
(0 1in40to11in 50
~(d) 1in50to1in 60

(a)
A 2
B) 4
©) 1

7 3

(b)

-3

2
3
4

©

4
1
2
1

N b W -

(d

(E) Answer not known

“ereumeuareupenm QUS55

@wCar n G 1
(@ 25@a 1 wsod 33 Qe 1
(b) 33@a 1 wso 40 @ 1
(© 40@a 1 yso 50 Qo 1
(d) 50@e 1 pso 60 Go 1

(a)
A) 2
B) 4
© 1
D) 3

(E) oL Gsfuaidma

(b)

B W N W

(d

N W -

Type of Road surface
Thin bituminous surface
Cement concrete surface

Earth surface

L

Water bound macadam
surface

graneGHuriier cuamaser
Queelw G HLilerev GLb;j)uuuq
Qe srendlif. CudHuruLiLy

weir GuHugLiy

W o=

euml_L it Queraitl. Qu&smLLbd
GuhHugLiy
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188. Assertion (A) : For hilly or mountainous areas, steep road gradient will

be desirable.

Reason (R) : In hilly or mountain areas, to avoid unnecessary deep

(A)
B)

embankments or cuttings
(A) 1s true but (R) is false
(A) is false, (R) is true

M Both (A) and (R) are true, and (R) is the correct explanation of (A)

@)

Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(E) Answer not known

safluy (A) : Gay swwg wooldrCsstusae Weswetarar GCpisfay
- SewssliuGEng |
anyenrd (R) Gty sowg waeldrCsenisefdn, Caamanwpn pWwrer seiy

@)
®

(©)
D)
(B)

~ DMIT/2023

g LdTeTd Semwliug H&sUUGEDS
(A) sfwneng g ame (R) seuprang
(A) sauprarg, (R) sflunang |
(A) wpmd (R) sfwrang, wpmid (R) ererug (A)-er sflwnar eflerésiongnd
(A) vompw (R) sfwrarg, e (R) erarug (A)-er sflwrer eferssiode

len Qgflwellévene
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189. Choose the wrong matches from the following

1.

@)

(B)

D)
(E)

Shoulders

Frontage roads

" Guard rails

Cycle tracks

1 and 2 are correct
2 and 3 are correct
3 and 4 are correct
1 and 3 are cofrect
Answer not known

The portions of the road way between
the outer edges of the carriage way and
edges of the top surface of
embankment

For granting access to - properties
situated on important highways

A minimum width of 2m is provided in
urban areas where the cycle traffic on
the road is very high

Provided on the edge of shoulder to
prevent the running vehicles from the
embankment of road -

Getreu(peuaraupbled Feupmer Qun@g,gm&mm Csib0sbh s

1.

A
(B)

©)

(D)
(E)

CagmeLiren-

SLipa_GL gy srened

smi@ Qruidser

F&EEleT LTEnSSET

1 wpmo 2 sflurareaa
2 wpmid 3 FRwTaTe
3 tD[_i')Qij 4 sflwrereney
1 wpmid 3 sflwrereney

e QgMweldene

greo®  eudlufed @J@g,g,u_g,ﬁm Qeuefliiyp

 Meflb @@ whmd  erbCukisbeTL

Cupuriy NebddpEnd @eLCw o drer
UG W&

w&aw Opbheremamauier 155 sHH e erar
Clemsg158@ES a@mﬁasé]mm HIDL6Y
LI :

i@ assdd  CursGeaurss s
o ararCsm Bs STl BETDESETD
GSPDHSLLE SI&LD 2 B fed
DAMWESILBID

stevoulear erbCums Guamgdmbg @O
arsasans  SHUUSHETS GagmeoL_Mem
adeflblGéd QUTBSSLILIL g (HEHGLD
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190. The total station is not in level does not coincide with the
plumb line

qﬁf Plummet line

(B) Vertical line

(C) Inclined line

(D) Horizontal line

(E) Answer not known

Gumiie au(%t.aq.m LLrs @dae aafld — Qanby Gam’ HiLar gar
Ceymgy

A)  yeEpQwL Car@
(B) Qempsgs Car®
(C) smueurar Car@
D) HerwiLs CsrE
- (B) der Gsfluaoame

191. Using EDM dlstances determmed by the number of wavelength travelled

by the formula |
. nil+¢ y_nA-0
@ L- =5 B) L=~
ni
©) L—m - (D) L= 7—2—

(E) Answer not known

EDM @b gmsams semal@ulung gl sieg Lwuansas sarsd@n umreper

@ L=n/12+¢ . ‘ (B) L___nxlz——ﬁ
ni _
© L——¢+—2 D) L= ¢ 2

(E) oo Qsfueldeame
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/ : |
192. Choose the right matches of wavelength bands and their characteristics

of EDM. from the following

1.  Micro wave system — Range upto 150 km

2.  Light wave system - Range upto 10 km for small machines
3. Microwave system — Unaffected by visibility

4. Infrared systerh —  Not limited to line of right

(A) 1and 2 are correct Yﬁ and 3 are correct

(C) 2 and 3 are correct (D) 2 and 4 are correct

(E) Answer not known

@mm@mmmm@m EDM-ér siwaper Cuamiev whmib éqeug)gﬁ]m GaThISET 6D
gflwrar Qumrmsshsmer CaibOs®.

1. awsGrT e Havd -  Cremers 150 &.15 cueny
2. qefl oo Advtd - 8flwu QwefansE Cremess 10 &.15
3.  owsGrm e favb - sy Urdliy @dame |

umreneuuern Camiigh@ eyl @deane

4. &FSleuliy HevL_Lb
A) 1 vogb 2 sAuraree " (B) 1 wpmd 3 sAwrarema
©C) 2 wpmb 3 sAwraree (D) 2 wpgw 4 surearee
(E) &leor Qsfweicdrera

193. The unit for angles in total station is
y@{ Degree or gon (B) MHg (or) mm Hg
(C) Ft (or) metre o (D) Radian
(E) Answer not known

GLmiLe wGLsaflan Caramiis@pésrar Di0s
D) 1N (@oeg) sar (B) MHg (<ié@og) mm Hg
C) <y (Sidg) Bt (D) Griqwen

(E) e&lerr Qsflwelérere :
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194. Match the following Equipment Inventory of Total Station : '

(a) Total stationset 1. Centering rod

(b) Prism set 2.
(¢) Back sight set 3. Tripod
(d) Data processing 4. Tribrach

@ ® @© @
@4 2 1 3
& s 1 14 2
S ©2 4 3 1
D) 1 3 2 4
(E) Answer not‘known

Application programme

. Qereumd CLmiLe evGLager 2 Lsramhiseafiar L gwme QuTBSSs

(a) @l_rrl'_I_Gi).'GiDGLQQaGiﬂ Q&L
(b) ufsb Qs
() Gus el Qar

(d) Guiim ugrQeeverd |

@ ® © @
a4 2 1
(B) 3 1 4
©2 4 3
M1 3 2
(E) eL Asfuaddma

O
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195. EDM instruments short range is

(A

(A) + 5mm + 15 ppm (B) + 25 mm + 15 ppm

M + 15 mm + 5 ppm (D) + 20 mm + 5 ppm

(E) Answer not known

EDM 2 usranmsaiian gnélw Crengsé

H+

5 mm + 15 ppm ~ (B) 25 mm + 15 ppm

© 15 mm + 5 ppm (D) + 20 mm + 5 ppm

H.

(BE)  eflen Qsflwecvaner

196. Time required by total station to measure short range measurements?

(A) 3 seconds (B) 2 seconds

M 1.5 seconds | (D) 2.5 seconds

(E) Answer not known

EDDHS ST sasEHsERHE CLTL 6vGLayen ahsgs Camerend Crrb
A) 3 Nermg (B) 2 aarmyg.

(©) 1.5 ey (D) 2.5 Marmg

(E) &leor Gsfutdme

197. How bubbles in a total stations are centered?

1

v Tripod legs ~ (B) Endless drives

(C) Focussing screws (D) Keys

(E) Answer not known

Gl svGLsaid o drer Gulfiser (bubbles) eréuaumy ewwLESSILEADS ?

(A cCegur® Qe&ev : (B) wyefidrar g TGV
(C) Cumselin evEmev | ‘ . (D) &
(E) e Qsfweldera
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198. In Total station, HR means

)

Height of reducer

(Bf Height of reflector

©
(D)

Height of repose
Height of remote setup

}(E) Answer not known

CLmliie evGLsafled er&.pm ereamug

(A)
(B)
(©)
D)
(E)

GMOLUILITET 2 WD
Wrdueliumerdles 2 wigb
@ua] 2 Wiy

Qzreneailen sienliL aﬁ.nyfo.

clenL Az Mwaelerenaw

© 199. Distance measured by total station in

(A)
(B)

Feet or cm

Inch or mm

M Feet or m

(D)

Yard or m

(E) Answer not known

CumiiLé svCLgem @6 arall il SieTe ST

A)
(B)
©)
D)
(E)

DMIT/2023

g s Qs
@ens sioeg WIS
Sy OO BT
WiE Sid@g BULi

ellenL Qg,nﬂu_laﬁlei)anev
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200. The following are the advantages of fotal station |
(i) While using total station surveying, does not provide hard copies of
| ~ field notes
(1) Quick setting of the instrument on the tripod using laser plummet
(111) For conductihg surveys using total station, skilled persons are
- required

: ,(iv) On-board area computation programmed to compute the area of the

 field |
(A) () and (iii) only J(ﬁ) and (iv) only
(C) () and (iv) only (D) (i1) and (iii) only

(E) Answer not known

(Su_rn.‘_c_d) Gh)(ﬁl.@#&fﬂdﬂ BETELDSET 1G6ieu (HLomm)
(D) Cumire wGLeger &TCGeu QaFuiujd Gung, oolﬁm@ @@uqaaﬂm QUETENLD

Ba@smer QarThLiug @damae.

(i1) Gaosir HepOwlamer 2 uCGurdlgg, yarumiger 8g o usfansms S687D
- SMDSSD |

(1) Gumiid wCLegamsmer o LGUTASE, &G  QrieushE, SHmanw
aumipsarser CeameuriuHpmiser

(@) e fesdar  upliveTee  sbuw’  Gsuw Gurrrr@ S ugtGer  Sgl
s GLager 4Grmdlgmbd Qeuiwiiul Hererg.

Q) @) wpgw (i) v o ®) @) whpd (V) v G
© (@) wogd (v) @b D) (i) wppw (i) we o
(E) oL Qsfweldeme |
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